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CHAPTER

(ECIMIEIR)
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(MAXIMA AND MINIMA) 8.
1. The minimum value of

2 sin“6+3 cos®0is :
25in®0 3 cos?s N TAH AN M L
@0  (b)3 (o) 2 () 1

2. If 0°<g-90°, the wvalue of
sinB+cosO 18 :

7f 0°<9<90C,%?ﬁ sinB+cos HT 9,

HH A6 L
(a)equal to 1
(b) greater than 1
(c)less than 1
(d) equal to 2
3. Masamum value of (2:in8+3c0s8)1s:
(2sinB0+3cosh) FT AFHTH AT FMEMM? .
(a) 2 (b) V13 (¢) 415 (d) 1
: 2 _(x+y]=
4. The equation cos 9—4—_ 18
Xy
only possible when : %

Tifgrm cos? 6=—(x+y
4xy

- - )
(a) x=-y (b))’">y N7 11.
©x=y (d]lf‘ii,»
5. The minimum m’glue of
4tan® 6+9cot’s is al to :
4tan® e+9coﬁa’${ ﬂfm | 1 B2
@1 2 { (©12 (13
6. The greatest value of
sin*g +cos*gis : 12
sin* @ +cos* 8 T AT WA F1 M7 |
1
(a) 2 (b)3 () 5 (d) 1
7. Which one of the following is true
for 0° <g=90° 2
0°<g<90° # s g s M EA &7  13.

[a] cos O = cos® P (b] cos B <cos®h

(€) cosB >cos?6  (d) cos® >cos*O
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{43 16°,56°,88°
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Af% g TF HAREE TR E M cos®o
+ cos®e = 1 Hﬁ‘&@im%‘,m tan®0
+ tan'p HI gﬁ’ﬂm B2

'fE)‘] 1\,.»

, the value of

If cosmx=x? —x*

x will be :

afg cos;‘zx:xz—x+151 2 @ x® e

(@) 5 2 (e) 5 2 (d) 0
A F P
@0  B1 (- 14. If b = 2 then the value of
(d) None of the above proy tmfﬁ e
ON\OJ

L TX _ N £3 ,3sm8+2c038 .
If sin—-= ¥-2x + 2, then the’é_;; ' 3 enBDo0sd 18
value of x is : ?f'-“’}. (a) 0.5 (b) -

o AT ()30 (d) -
afg sin—-= R—-2x+ 2%, Hiﬁ«?[m 15. The simplified wvalue of
| € ) [SecAz—c.;osA)%[a)secA—mnA}Q—(cotA—
@0 (b1 {crf;:; )) s b
(d) None of th @0 (b3 (1 ()2
Thie measqxe 0f°ﬂ1e Htiglesiaf & 16. The angles of a triangle are (x +

triangle ate in “the ratio 2 : 7 :
11. B,gegsufes of angles are :

wﬁm‘%mmmmﬁm
J?fﬁ 11% dat =W FT W T F

5)°, (2% 3)°and (3x+4)°. The value
of x1is :

T P & 0 T R E (x+ 5)°, (2
3)° @R (3x+ 4)°, X% HH [ F4

(a) 30 (b} 31 c)29 (d) 28

P

(b) 18°,63°,99°

[c) 20°,70°,90°

(c) 25°,175°,105°

If 8 be an acute angle and 7
sin?g+ 3 cos?g = 4, then the
value of tangis :

% g TH FERW E 3R 7 sinZg + 3

cos’g =4,'% Tl tan g o1 HH T HL

@3 b7

If tang = 1, then the value of

tan37 °+ cot 37°

17. tan33°+ cot53°

The expression

is equal to :

(a) tan30°cot57°
(b) tan57°cot37°
(c¢) tan33°cot53°
(d) tan33° cot37°

cot30°-cot75°

18. The value of nl5°—tanB0° is :

(c) y3-11(d) -

(0 1 (d)o

(@) 0 (b) 1

8 sinB+5cos8 ) 19. If sec*8+tan®s = — , then sec*g-—
sin® 0 —2cos® 0+ 7cos® 1°° tantg= ?
1 4 i 1 1

(a) 2 b) 25 (93 (@ = @7 (b3 )5 (d1
If gbe a positive acute angle 20. The numerical value of

S _ 5 2 B
satisfying cos®9+ cos*6= 1, then o8 TTiors Tasin'e 18
the value of tan*s+tan‘s is: (a) 5 (b) 2 (c) 3 (d) 4
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23.
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25.

26.

27.

28.

29.
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The numerical value of

[1+1l[1_1l._
cos® cotB) lcosB coth s

@0 (p-1 (o+1 (d2
The value of (2 cos?0-
(1+ta_119 ” 1—tan® |
]-\l—tane 1+tanb ) 1%
(a) 4 (b) 1 (c) 3 [d) 2

The value of cos 1° cos 2° cos

Fhinas cos 177° cos 178° cos
179° 1s :

1 1
(a) O ®) 5 (e) 1 101]':,"2’

2 cosec?® 23°% cot?67°— sin?23°%—
sin?67—cot?67° 1s equal to :
2 cosec? 23° cot?’67°— sin?23°-
$in’67-cot?67° fargs e &7

(a1 (b) sec?23°
(c) tan?23° (d) O
tan B cot B

P equal to :

(a) 1- tang — cotg

(b) 1+ tang — cotp

(c) 1- tang + cotpg

(d) 1+ tang +cotg

The value of (1+cots—cosecs)
(1+tanb + secB) is equal to :

30.

31.

32.

33.

(a) ;11 (b) é (<) % (d) %

If  (l+sine) (1+sinP) (1+siny) =
(l-sina) (l-sinP) (1-siny)=

(a) tcosacosp cos y

(b) tsinasin sin »

(c) +sinacosp sec y

(d) +sinasinf cos y

The numerical value of ——=
l+cot @

+ e + 2sin?0 will be :
@2 (5 (96 (d)3
The elimination of g from x
cosg-ysin®=2and xsin 0+ y
cos =4 will give :
Xcosg-ysin®=2 # xsin 0+ y
cos 8=4H ¥ 0 ge W FH W FUA

L= [ %T'Tl?

(@) ¥+ y2 =20 (b)3x2+ y? _Q@’fé
(c) - ya =20 (d) 3x°-

The value

Zax 4
{ cos® A(sinA+cos A)#y 3

cosec’A (sinA-cos ﬁi* _‘; ;.\" ’

\-J

@1l (b2 o (-1 sin® A(sin A cos
sinf8 cos0 . e ? AlsinA+cos4) ISE:CZA— cosecA) :
E—== , then sing — cosg 3
. . 3 @1 B3y (@2 (@4
is equal to : ﬁ; 1
s:'_:@_cose 24 sing — cose 3. The wF&-cos&cﬁ—cote sind
. f'{a)ul«f (b) cote
2 72 3(1)) cosecg (d) tan ©
(@) x~-¥y (b) x+y 5
x-y y—x ,{'{“\.5:5 If cos*g— sin*p= 3> then the
(c) NESES TS (d) N +5’j ,} value of 1-2 singis :
If x = a sech cosg Yy =h . B &
9 7fe 4, tg= =, B, @ 1-2
secO sin ¢ ,Z2 = ¢ tan tflen the . ol A 3
p X‘} sin’g 1 HA T B
value of ~—+ m“}ls : 4 5 2 " 1
gf h @ 3 (b) O {C]'s (d) 3
X=a sech wu; Qr""=b sech sin ¢ ,2Z nA snA
3 5 36. The value of +
N 1+cosA l-cos A
=ctang,? A —7+57-— A is (0°<A<90°) -
(a) 2 cosec A (b) 2 sec A
g () 2sinA  (d)2cos A
(@1 (b 4 g2 6.0 37. f rsing= 1, r cosg= f3, then
B+tanB 5 : ; :
If H= 3 then sinas is the value of (ﬁtanmlj is -
equal to : ‘Qﬁrsine=1,rccss=\f§,%,'ﬂ}f
sec B+tanBb = a3 , %, # sing 1 WA (ﬁtanﬂi—l) T HE P OEm?
secO—-tanfi 3 ;
s aoat @y BgF @1 @2
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sina—cos a
sinx+cos &’

38. Iftang =

then sin o
+ cosa is :

_ sina@-cosa w
I tang = —————— %,?ﬂ sin &
sina +cosa

+ cosa T HHE T B

[a:l :tﬁsine [b] :tJEcos [v]

(c) i%sine (d) i%cosﬂ

If tan?g=1 — €%, then the value
of secg+ tan’gcosecg 1s :

afy tan’g= 1 —&2%, T secg +
§Fl HE T EM?

39.
tan®p cosec

(@) zfé%;)z 7 ) (o-e

value of sin?p in terms of a and

bis :
a®+1 a'—b*
@ By
S| -1
© g W g
41. smnp=0.7, then cosg, 0< g<90° 1s :
sing = 0.7% dcosg =? (0< 5 <90°®)
(a) 0.3 (b) 039
(c) JO51 (d) Jo.9
42. If 2 sing+ cosg = 3 then the

value of (tan?6-sec’®) is :

g, i

; 7
4aff 2 sing+ cosg= 3

(tanzs—secze) = A A FH

3 7
(a) O (b) -1 (e) = (d) 3
secB-1 _
43. For any real value of e
ST 1 secB-1
=
frdt ot arafas 9@ + fou et
(@) cotB—cosecd (b) secHB-tand
(c) cosecBcotd (d) tanB-sech
44, The value of gec*f
__sin’B8-2sin’®
2cos*B-cos? B
(a) 1 (b) 2 (-1 (d)O
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45.

46.

47.

48.

49.

50.
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If (rcosp—43 )+ (rsing-1)?=0, °2%
r tanB+secl .
then the value of e —
equal to : 53.
g (recosp — 3 )2+ (rsing — 1)2=
r secB+tanf
4 3 3 5]
(a) 5 (b) 5 @ % (d) %
Let A, B, C, D be the angles of a
quadrilateral. If they are
concyclic, then the value of
cosA + cosB+cosC +cosD 1is : 54
wH @ fF A, B, C, D T& 9Iq4s & &
g Ak 3 wwE wgdE & o g, @
cosA + cosB + cosC + cosD =1 W1
F g
(a) D (b) 1 (¢) -1 (d} 2 55.
secB+tanb _ 51
If e 25 then the
value of singis :
91 39 65 35
@z = © gz @5
If1 +cos?g =3 sing cosg, then 6.
the integral value of cotg 1s
b1
[0 <B < EJ a
(a) 2 (b) 1 (c) 3 (d) 0 ST
C C
ﬁ= n and Coo;:;= m, then
the value of cos?p 1s :
cCOos o cosa
af sinp = n 3 cosBzm %’ W
cos2B 1 HH T BM? ,‘i}”-"’k
—
m*-1 mP-3 A N
l:a] n21 (b] 12— \\ »
s 4
m*+3 S ;.,? )
o =
o) x 1
If tang+ co(f 5 ‘then tan?g + 59.
cot?g 1s:
@23 (b)24 (25 (d)26
ftanA=ntanBand sin A=m
sin B, then the value of cos® A is:
A tan A=ntan BaR sinA=m 60,
sin B cos?A F1 91 &
m*+1 m* + 1
[a] 2+ 1 (b] n-1
61.
m?—1 m* -1
() 2] @ I

The numerical value of

9
s 2 P . -
cosec?d * 4 costg + 1+tan®6 ~
(a) 7 (b) 9 (c) 4 (d) 5

If Cosg+ Sing =
+ Cosecg = n then the value of

m and Secg

n (m2-1) is equal to : 62.

afz Cosg + Sing = m 3R Seco

+ Cosecp =ndin m?- 1) & T4

fores agEx gm?

(a) mn (b) 4mn (c) 2n (d) 2m
COMPLEMENTORY

The wvalue of tan4®. tan

43°.tan47°. tan 86"s : 63.

tan4®. tan 43°tan47°. tan 86°

F HA T B

(@) 2 (b) 3 () 1 (d) 4

The value of tanl® tan2®

tand®........ tan89° 1s :

4f5 sin asec (30° +a) = 1
(0 < a < 60°, 2, @ sina +
cos 2a w1 WA FT F?

21-\,"_

(@1 (b)) 55 (©0 (d)2

If ~Aand B are complemen-
tary to each other, then the
value of Sec?A+Sec’B -
Sec?A.Sec®B 1s :

fi.a #iT LBUH-3EI ® Y%
#1971 %, d] Sec?A+Sec?B-
Sec?A.Sec’B ®1 AM A FH
@1 {m-1 (2 (O

The value of eotp .tan (90°-g)-
sec [90° Ag’rgseceﬂsnﬁQS +

31n265‘§T*f[tan5° tanl5°.
tanSQ"tﬁh?S" .tan85°) :
@I b)-1 (@2 (d)o

.e"
\Iﬁ:;msecosecQSC 1, the value of g is

tanl® tan2° tan3°........ tan89° 1
. ; mﬁ cosb cosec23°=1, %‘ at g 1 HIA

HAA A S

ﬁ};;

@1 B0 (945 (di»;}'gg
The value 3}"
sin?5°+sin?9°+......... + 811128@ is

€5

I
(a) 11% (b) 1152 {cf fﬁi 2
The value gfﬁf}

( J;\*“" 1 ;
cot18° {\0017{&:'?3-‘92”@77205%2@1 1s :
€
@r\Jb vz @3 @F

’j;gx’fy are acute angles, 0 < x +
g < 90° and sin (2x —20°) = cos
[2y+20°l, then the value of tan

p(' + y] 66.
?lﬁx,y?{ﬁﬁ'm%, 0<x+y<90°
3 sin (2x-20°) = cos (2y+20°),
Tl tan (X + y) F B G F)
WF BE ©F @
s1in?5° +sin210°+s1in?15° +......... +
§in?83° +sin*90° is equal to :
@75 b 8% ©9  (d) 9

67.
The value of 51,‘, + 2 (tan 11°

tan 31° tan 45° tan 59° tan 79°)
- 3 (sin?21°+s1n?69°) is :

(a) 2 (b) - (c) 1 (d)o
Hsinasec(30°+ &) =1, (0< a<
60°), then the value of sina+
cos 2a 18 :
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(a) 23° (b)37° (c) 63° (d) 67°
If A, B and C be the angles of a
triangle, the incorrect relation is :
afe A, Bagl Cus s & #1v &,
fm o 9 e Hew st

A+BJ c
= CDo8S—
2 9

(@) sinf
(b] cos[ 252 |=sin g

.fA+E| c

sec —
2

| C
= tan —
oy

Ifs is a positive acute angle and
tan 26. tan38= 1, then the

() =

(d] C0t|: A+B

value of EQCOSRSQ—G-l] 18 :
Ao UF TAHAF A & A tan
258

2¢.tan 36=1%, at (2032 1]

= HE 4T B
@ 5

then the value

1
@3 Bl (90
If tan70tan206=1,
of tan30 1s :

I tan760tan26=1, & tan30 F AH

G

@) V3 (b) ~75
© 5 () -

lis
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68.

69.

70.

T1.

2.

73.

74.

75:

76.

4
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If sin(60°-6)=cos(¥-30°), then

the value of tan(¥-8)is (as-
sume that g and v are both
positive acute angles with g<go°
and w- 30°) :

AfE in(60°—0) = cos (¥ -30°), ¥, @

tan (v -8) 1 AE F B (WA | R
o AU w A TS = B e

8<60° T v 5 30°) T

@ B0 (94

Evaluate : 3 cos 80° cosec 10° + 2
cos 59° cosec 31° ;

3 cos 80° cosec 10° + 2 cos 59°
cosec 31°F HA FT FlI

() 1

(2) 1 (b) 3 (c) 2 (d) 5
2sin68° _ 2cotl15°
cos22° 5tan75°

Jtan45°%.tan20°.tan40°,tan 50°. tan 70°

53

1s equal to :

(@) -1 (b O (@1 (d)2
The value of tan 10° tan 15°
tan75° tan80° 1s :

tan 10° tan 15° tan75° tan80° =
A 82

@0 (1 (9-1 (d)?2

If sin7x = cosllx, then the
value of tan9x+cot9x is :

afy sin7x = cosllx, & i
tan9x+cotIx F HA B-
@1l (b2 (C] 3 (d)4
’Ihe‘,a]ueof(mn 7= " +sin?82l . ]]g"é
@1 B2 (0 fdf»’
The simplest value of o1 9° cot
27° cotb3® cot81° N S
(a)0 (b1 } (d) /3
The value of; in26§’° "+ sin?25° +
cos?35° + 3;5.‘53,{5 g

% I
@0 (b1 ()2 (d) 5

ABCD is a rectangle of which
AC 1s a diagonal. The value of

(tan® 2CAD+1)sin? - BAC is:
ABCD w P &, 3t AC su fai 2,
dl (tan’ 2CAD+1)sin? ~BAC &1 |
FT EM?

(a) 2

B3 @1 (@0

77.

78.

79.

80.

81.

82.

83

84.

85.

If sin 3A = cos(A - 26°), where 86. If cos 20° =m and cos 70° = n,
3A i1s an acute angle then the then the value of m® + n? is :
value of A is : p ] afe cos 20° =m 3T cos 70°=r1%:,
afg sin 3A = cos(A — 26°) ¥, W@l A m? + n? T TE T
3A UF FFHM F, A A AH FW F
1
(a) 29° (b) 26° (c)23° (d) 28° o L i Wi @
If sin(p+18°] = co0s60°(0° Wy W @3 D&
<5 <907, then the value of cos 87 Ifsin (90° - ¢) + cose = 2 cos
maE: (90° - g) then the value of
1 1 gis
@z B0 (@7 @1 s 0l
If 5 be acute angle and tan o s ( d
(49 — 50°) = cot(50°- g), then ( ] (b] 3 & ) J_
the value of ¢ in degrees is: _ Ji-1
'[5‘?,?,1;] =\.CDt (5_00_9] §d o F A value of {%DSA is :
H F OBMMY @f-:
(@) 30 (b)40 (c) 50 (d) 20 "“‘ \/_ o £
The value of sin?22° + sin?68° ?‘J‘ [Jaf © 4 )
+ cot® 30° is: B o .
@) 5/4 () 3/4 (©3 (@4 89 1 2(§§:eci°59fi’i£?w}=;s then
The value of cot41°. cot42 .. L
cot43° . cot44° . cot45° . cot4{6°¢fj‘i m. is equal to :
cotd7° . cotd48° . cotd9° : "{J;J (a) 2 (b) 3 (c) 4 (d) 1
@) E (b) 1 (© Q [({l”f COMPONANDO
tanB+cotd _ 4
The value of the fodlb“’itlg is: 2 tanb-cot % i 4300 tuem
T - .m/‘_‘ the value of sinfis :
J o \,‘J
tanf+cot 8 5
(tan20fY’ W’(cotzo y . o= 2 (0<0<90°), % @
(cog?@ Y (sec70°)2 tan sin0 FT TF R FHL
a6  t4n45° . tan75 : 2 3 1
AT B2 @4 @3 @7 5 @3 @I
“The value of the following is:
frfafem =1 wm 8- QUADRANT
[331147" ]2 {cos 43° ] _ Aeos 2450 91. Iftan 15°=2 -3, the value of tan
cos 43° sin47° 15° cot 75° tan 75°cot15°%s
© = _ = e
@ 1 {b]_l__ ©-1 (d0 AR tan 15° =2 - /3, % @ tan 15
2 _ cot 75°+ tan 75°cot 1 5°% T A 4
T%le value (?f the expression (@ 14 (b)12 (c) 10 (d)8
S1n*l® + s1in®11° + s1n°21° + 93 IfA =tan 11° tan 29°, B = 2 cot
S%n231° + S‘in241° + S%Il245° + 61° cot 79°, then :
e & SO T SmeYT e A% A = tan 11° tan 29°, B= 2 cot
m mres s 61° cot 79°, & i
@0 M55 (45 (@5 (2) A = 2B (b) A=-2B
(c) 2A=B (d) 2A=-B
If a+ 3 =90° then the expres- ;
. a, el 93. The value of cosec?18°- e A8
- is 1
equal to : cosec?18° — el 1 #
(a) tan® o (b) tan?p
1 J2 1
c) sin® (d) sec®a @pz G5 @3 @I
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94,

95.

96.

97.

98.

99.

If +p=90°,then the value of
(l—sing:x)(l—cosga) X (1+cot®p)(1+tan’p)
is:

gfs a+P=90° %, @

(1-sin®a)(1 —cos2a) x (1 + cot*P)(1+ tan?B)

F1 9H 87
@1l (-1 (g0 (d2
If tan9® = g, then the value of
sec’ 81°
licot’sl® °
oan A = sec? 81°

At tan9 q g ltcot’ 81°
HE w41 B

q p’ q’
WL B @ @&

The value of following is cos24° +
cosd5’ + cos 125° + cos 204° +
cos300° :

(@)= 1/2 (b) 1/2(c) 2 (d) 1
YEAR 2015
ANGLE FIND OUT
If 2(cos™®-sin’8) = 1, g is a

positive acute angle, then the
value of g 1s :

afg 2(cos™ -sin0)= 1, )
IS S €, d o 1 HF A i

(a) 60° (b 30° () 45° (d) 225

If 7 sin®B+3cos?B=4,(0°20=<90°),
then value of g 1s

qf 7 sin® 6+3 cos® B =4,(0° <B < 902).

g 1 TF 1 HI {J"\-*‘s

(b 5

If tan(20+45°) =\

(@) 5

g}"ée , where
(26+45°) anﬁi«é& are acute

angles, then ‘the value of g 1s :
Ifg cot38 wEl
(20+45°) 3K 30 =AH , @ 6 H

oM T FL
(a) 5° (b} 9°

tan (20+45°) =

() 12° [d) 15°

100. gin* 6 - 3sin6+2 = o will be true if :

info@spardha.guru

sin® @ - 3sinf+2 = 0 Tl BN AfR-
(b) 0<6<90
(d) e=90°

(a)o=6<90
(c) B=0

101. If 2(cos’@-sin’8)=1(g is positive
acute angle), then cotgis equal to:
af¢ 2(cos®8-sin’6)=1 (g Tk HAHH
B REL] ®, @ cotp fHEs =UE 27

1
@ 5 bz 1 (d3
VALUE PUT
102.1f sinae+ cos g4 = 2;
(0° < (=2
[a] sin% [b] cos%
(c) sin% (d) cos%ﬁ
103.1f cos?a+cos?’p = 2, then the
value of tan® a+sin®p 1s :
@-1 M0 (@1 (@
104.1f QS{“F?}-"‘ +_l" , then th‘g}w\a
?:r oot
1
value of [JC—;J 18 : é/d ;\j
QJF
. () 5 ) o 1
afz an‘—l:x +¥%‘Eﬂ“{‘c—;J
Eal nﬁ | w7
-1 (A ﬁl (d 0
105.1f cose +¢’Ehg: = 2, the value of
cos’g, ﬁ&e‘ie 18 :
og*w"i sece = 2 ¥, M cos®e +
séc‘; H HE FW HL
cerd B8 ©1 (@2

.106.The value of 152 (sin30° +
A\w‘\

2co08?45° + 3 8in30° + 4cos?45°
...... 17 sin30° + 18

cos?45°) is :

152 (sin30° + 2c0s°45° + 3 sin30°

+ 4co0s2?45 + + 17 s1in30° +

18 cos?45°) 1 WF F1 &m?

|a) an integer but not perfect

square

a rational number but not

an integer

a perfect square of an

integer

(d) irrational

(b)

(c)

s
107.1f x sin45°= y cosec30°, then ;—4
is equal to :
af% x sin 45°= y cosec30°, & dl
7 T &2

()4 (B)6* ()2 (d)8°
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108.If tan’e=1+2tan’p(a,p are posi-

tive acute angles), then

J2cosa—cosp 1s equal to :

AR tan'a= 1+2tan’P( a,P T HFHER ZERN

kAl J2cos @ —cos B foF SRR &2

@0 (B vz (@1 (d-1
109.1f sing + cosecg= 2, then the

value of sin?g +cosec’gis :

aff sing + cosecg= 2, & dl

sin? g +cosec? g 1 HH &7

@3 (b2 ©4 ()1
110. The value of 3 (sinx — cosx)* +

6(si11x+oosxj2 %4 (smPx+cos®y) is :

(a) 14 (b) . (c) 12 (d) 13

111. The va%;aekj
QH{ cosB J—2ta1125 -

% _gos B I+sin9 s

o) 4/ b)1 (@2 (d)o
1,@}2 f tang—cotg =0, find the value

ofsnle + cosg :

@0 ®m1 (v )2
113.If x sin 60°. tan30° = sec60°.

cot45°, then the value of xis :
7 x sin 60°. tan30° = sec60°.
cot45° &, @ xF A T FiI

@2 (B2 @4 (A3
60° % Tren® -+

then

114.1f g =

H

1 - .
5V1-sin@ is equal to :

(b] sec%

<]
[a} cota

. B a8
(c] 311'1-2- (dl COSE
2tan’ 30°
2 300
sec 60°, then the value of x 1s :
@2 (b1 €0 (d-1
116.If x sin 60° tan 30° — tan?45°=
cosec 60° cot 30° — sec?45° then
x=P
(@2 (b)—
117.The value of
cos? 60° + 4sec? 30°—tan® 45°
sin?30° +cos? 30°

115. If + sec?45” — sec?0’= x

()6  (d)-

@75 O @S @2

118.The numerical wvalue of
a 1 S
mﬁ(ﬂ“ —s 07 + ﬂfﬁac—mecﬁ'?" 18

@1 (b2 ©-1 (d)o

| 5
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sin43°
cos47°

119. The value of -(:—Fil-g—:—
sin71
8cos?60° :
@0 (1 (g2 (d-1
120. The value ofp, which satisfies
the equation tan?g+3 =
3secp,0°< < 90° is :
o H TH F TA FHHEW tan+3 =

3sec,0°< 90° #I Tftz Fa &2

(@) 15° or 0° (b) 30° or O°
(c) 45° or 0° (d) 60° or 0°
121.The value of
% sin% ms%—cotg sec%
Stan’
4
* osin is equal to :
2

5

*+ (cosatseca)?

(@0 (®1 (2

122. lf (sine +cos eca)

= k itan*a+cot?’e, then the
value of k is
@1 (b7 (3 ()5

123 If x sin?60° — -2- sec 60° tan?30°

+ % s1n?45°tan®60° = 0 then x
18

1 4
@ = bl-4 (0 = (d)-2

124.If 0° < A < 90°, then the value of
tan®A+cot?A-sec?A cosec?A is
af% 0° < A < 90° &, Al tan?A+cot?A—

sec?A cosec?A T TH T BIMI f;&“\
(d) 2\ J

(@0 (b1 (o2
125.If @and pare positive ,ﬁm&t@b
angles, sin(4a- B]—fil rand

i Sy
zgﬂﬁ; "f}hP value

3 \,«é "
of ‘3.11".L|[a'+2[5‘,}""’3"et
A o R p A TE E, sin

cos(2a+p) =

(4a—p)= 1 4R cos (2a+B) = 3 %,

Al sin(a+2B) F HA FE FH
3

@0 ®1 (o 5

A 5

126.The value of

sin25°cos 65°+cos 25°sin65°
tan” 70° —cos ec? 20°

(@) -1 (b O (c) 1
6 |
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(d) 2

127. If sin(A+B) = sinA cosB +cosA sinB,
then the value of sin75° 1s

% sin(A+B) = sinA cosB +cosA
sinB ®, @ sin75° ¥ "A §@ F

3+l J2+1
(a) A (b) oz

J3+1 J_+I
[c) X (d)

128.ABC is a right angle triangle
and right angle at B and A=
60° and AB = 20cm, then the
ratio of sides BC and CA is

ABC u% wHavl fiys ¢ 3l B awahon

# 3l 24=60° 3K AB = 20 &, 2,

Tl =1 BC @en CA 1 3F9 1 B2

(&) ¥3:1 (b) 1:43

(e) \53:42 (d) v3:2

Find value of the following

3(sin*0® + cos'g) + 2(sin’pg +

cos®g) + 12 sin”g cos®g:

(@) 3 (b)2 (c) O (d) 5

130.The numerical value of
cos®45° cos®60°
sin?60°  sin245°

129.

cot? Oy
AN
é

(blﬁ,ﬁ:ﬁ o
.

SRV BE
If x cosg ‘ﬁéxn"s =1, then x® -
(1+ x7) SI’I:@ equals :
@B -1 ©0 (@2
132.If4sanB < cotd = 0 and g is positive

racute angle, then the value of

i e,

Clian pr1se)
tan (B-15°) ®°

% tanB-coth =0, 3R g ¥R =LA

tan (6+15°)
0T &, tan (6-15°) 71 T F1 BIM?

2in230° |,
cot230° 18
(a) 3/4

131.

@3 B ©BF @F

133.Ifsece—tan9=—l,the value of

3

sec@ .tang ?

4 2
@) 73 b 77
2 1
() 3 (d 7=

134.The value of (cosec a — sin a)
[sec a — cos a) (tan a + cot a) 1s:
@4 M6 ()2 (d1

135.The wvalue of 8(0<6<909
satisfying 2 sin?8=3cos01s :
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tan230°, f’&“

2 sin?@ =3 cos 8 F W FH T

0 (0 <0<90° F HA 1 87

(@) 60° (b)90° (c) 30° (d)45°
136.a, b, ¢ are the lengths of three

sides of a triangle ABC. If a, b,

c are related by the relation a®

+ b? + ¢® = ab +bc+ca, then the
value of : (sin?A +sin?B+sin?C) 1s

a, b, c TF fags ABC =t 9 sysnei
# @t 21 4% a, b, c a2 + b? + ¢?
= ab + bc + ca & a4 ¥ g fg7 =Q
= (sin®A +sin®B+sin®C) =1 T T BW?

@2 B2 @8

{ﬁ ) 5

= ] o
137.11 x ca3”3’@°sm o, Jandh eecl”
j cosec 60°

ghen ﬂ:\e&alue of x :

”ﬁk~m2 mfwmé
138ﬂ(lf tana =2, then the wvalue of

cosec® o —sect & .

——— s 48
cosec® o tsec? «

15 3 3 17
@-g M0z © 35 @5
139.1f 3i11{8+30°)=—~\{:f=2-, then fisid
cos®8
1 3 3 1
@5 B ©% @5

140.1f 0 <8<90° and

4cos® 0 — 4+f3cosB + 3 =0, then
the value of g is

(a) 30° (b)90° (c) 45° (d) 60°
141.The value of sec* A (1 — sin* A)

— 2tan? A is :

sec* A (1- sin* A)-2tan’A F1 WA 87

@ % b0 (©2 (@1

142.The value of (sin90° — cos45°+
cos609 (cos0° + sind5° + sin30%) 1s:

F i) 3
@z b7 7 A3
143.1f 2sin’g- 3sing + 1= 0, g be-
ing positive angle, then the
values of g are :

af 2gin?@— 3sing + 1= 0, p=A
A FEME, A HAA R

(a) 30°, 90° (b) 60°, 55°

(c) 60°, 45° (d) 45°, 50°
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144.If 4sin’g — 1 =0 and angle g is
less than 90°. The value of
cos?g+ tan?g 1is:
(Take 0° < g < 90°)
afg 4sin?g — 1 = 0 3R F1 g < 90°
¥ F9 21 @ cos?e + tan’g F A
F Em?
(A1 0° < g <90°)

11

17
@32 bg @7 @5

x—xtan<30°

145.1If W=Sin230° + 4
Cot245°— Sec?60° Then value
of x is:

@3 Bl @3 @t
The value of x in the equation
frafafed gHiRor =1 47 TH Hi7

146.
tan2Z —cos2L = ¢ sin = cos L
4 3 4

@ 22 1) 5

If CDS‘?G_ sin48'= E,

J3

1
©7F @

147. then the

value of 2cos*8 -1 is :

2 =
-qﬁ CDqu_Sﬁlqe =§, %< Gl 2cng28
—1 =1 °A T Bm?

@0 (M1 (2 (@3

148.

If sinf— cosg= %aﬂd 0° < g<

90°, then the value of sing + -

cosg 18 :

f% sing —cos9 = 3 fo? ngje“ﬁk
90° % sinfB + cosB I ¥ z’fl'l?f Exd

@3 O ,;3 d) =
ﬂf{' Iy
149.If zmse—sme,:‘é%‘,
(0°<8<90°) the walue of
2 sin B+cosB 1S :
1 3 1
@F B ©F @5
150. If sec*@® T tan®@Q < 7, then the

value of g when 0°<8 < 90°,1s
A sec?0 + tanze =7, Tl o F
HH F6 F W9 0°<6 < 90° B

(a) 60° (b) 30° (¢) O° (d) 90°

info@spardha.guru

N of
\ ,J

151.The simplified value of (secx
secy+ tanX tany)®— (secx tany +
tanx secy)? :

(@) -1 (b)O (c) sec®x (d) 1
If A= gin®p + cos*efor any value
of g, then the value of A is :
afs ¢ & foet ft 79 F faw A
= Sin® @ *cos"® B, T A H WH FH F

152.

@) 1ca<1 (b) TsAsl

() %sAsl [d]

In circular measure, the value
of the angle 11°15' is :
T 7§ 11°15' 01 1 0 # g2

153.

B B @

In a triangle ABC,

d 3

154. sABC= T5°

4 , The Cchula_r

measure of ~BAC 1s :

and -ACB =

wF fiqs ABC ¥ , .ABC= 75° 7910

e ‘\_‘\
ZACB = ’%, @ - BAC gAY
T F 2 Q)
{a] 2% radian [b] »«f’ rédian

radian

'
() & rad_lsih\,,[d] -

155.1f sﬁffj:‘; M{

A&eci? -sin73°) 1s :

Cen
%f? sin 17°__ 2 at (secl7’—

, then the value of

sin73°) # HH Fd FI
yz e

e v oy e
xZ yZ

@ W @ e

156.1f Bbe acute angle and COSH:% ;

then the value of cot(90°-8) is

af o = ¥ it cose=2> ¥, @
cot(90°~8) =1 9 F1 'm?
8
@8 b 0L @3k
157.In a right-angled triangle XYZ
right-angled at Y. if XY = o5
and XZ -YZ =2, then secX+tanX is:
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F GHE e XYZ 4 Y g
aft XY= o R XZ-YZ=2,% @
secX + tanX F TH T BM?

@ bE (O 26 @2
158.In AABC, «B=90° and AB :

BC = 2 : 1, Then value of (SinA

+ CotC) :

AABC ¥, B=o90° 3t AB:BC=

2: 1%, (SinA + CotC) %1 WH =1 2rm?

@ s 2
(€) 2+45 [d] 345

m
159. If sin *gl =W£ then sec21°-
sm69°¥"1‘3“f€qua1 to :

'EEE xm 219 == %‘ al sec21°-
f}jém69‘ forms: =T Bm?

2 2

x y

:| y\’yz_x: ]nyz_xz
x2 yZ

:| ny:_y: ]xe:_y:

160.1f 7sina=24cos a ;0< a < 3,

then the value of 14tanega-—
75cosa — Tsecais equal to :
af¢ Tsina=24 cos e ; 0< a <
% %, d 14 tana-75 cosa—7
seca & WA fFE® FwEw FM?
@3 ®m4 (@1 (d)2

1
161.1f sece =x+— (0°<s < 90°)
4x

then sece + tansis equal to :
1 P

7 sece =x+4—[0°<a < 90°) 2
X

At secs + tane fFgS awer 27

1
(b) 2x d) 3¢
If seco+ tang= \E (0°< 0 <90°
then the value of tan3g= ?
e ceco+tanp = J2 (0°< 8 <90°)
% dtan39="?

(a) 5 (©) x

162.

(a] undefined (b) :‘%

© 7 () V3

Il
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163.

164.

165.

166.

167.

168.

169.

8
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7
If cosecg—cotg= 5 the value

of cosecgis :

i N
4f§ cosecg—cotg = R 2 dl coseco

%1 WA 87

47 49
( ] 28 [b] 28 [C] 8 [d] 8
If seco+tanp= 2 +/5, then the

value of sing + cosg is :
af% secp *tang= 2 +5, §,
sing + cosg ¥ WA 22

@ GBIV ©F @F
If seca+tana =2, then the value of
sina is (assume that 0 < a< 909 :
% seca+tana =2 %\, dl sina &
HE @ 82 (0° < a< 90° HH)
(a) 0.4 (b) 0.5 (c) 0.6 [d) 0.8
If A 1s an acute angle and cotA
+cosec A = 3, then the value of
sin A is :

4t A WH SFE E, S cotA +
cosecA=3%', Al sinA F1 99 TG i ?
(@1 (b} 4/5 (¢) 3/5 (d)0

If g is positive acute angle and
3(sec®6+tan*0)=5, then the
value of cos281s :
At o wAHE A FHU T ST
3(sec®8 + tan?8) =5 %, A cos 26 H
T FE B
J3
B
RADIAN-DEGREE

B L @ F @

(@) 5

(3x |

170. | *-| radians is equal to :

| e frad w22
(a) 100° (b) 120° (c) 108° (d) 180°

171.1f the sum and difference of two
angles are 135° and respec
tively, then the \ralue of the
angles in degree measure are :
afg < i =1 A qen H@ FA: 135°
75 & @ falt (°) # w31 W
Elcfca
(a) 70°, 65°  (b) 75°,60°
[c) 45°,90° (d) 80°,55°
172.1f cosx +cos®x = 1, the numeri-
cal value of
(sin'*+3sin'® x + 3sin® x+sin®x-1) :
afe cosx +cos?x = 1 %, i
sin'*+ 3sin'® x
+3sin® x +sinx —1 I 3fHd W{Eﬁv‘i
U ?:? _\.»j
gm? Nt
@1 B2 @0 @
173. If cosp+sing= 5% cosg;; then
cosg— sing 1s : ,»:.---—3 /
afg cosa+sum°§?s A2 cosp g,
cosg— 81;1 9}3\ o’
(&) J?‘taaﬂ"’ (b) 2 cos8
[(;F —wE}SmG (d] Jﬁs’m&
o~

;a*‘? 1
1?4 ‘# sing- cosg= = then value of

J + .
The circular measure of £ sing + cosg 1s :

angle of an isosceles tnag;éli;p

o
Circular measure ‘of one of

. %‘t’}be:

the other angles
gufgarg fgs } qurm Eauieal
o iﬁ_,a':l g o :ﬁ'ﬂ 2 TaE F ol

H § HF BT FH WY 90E |

S =% 4 2 4o
@15 (Bl5 (© 35 [ 5
The degree measure of 1 radian
(== 22) :
uF ifgmm w1 o9 o= oam (ferd W)
(a) 57°61'22"(approx.)
(b) 57°16'22" (approx.)

(c) 57°21'16" (approx.)
(d) 57°62'16" (approx.)

V7

(@) - © 5

175.1f x cosg — Yy sinp = fx*+y* and

(b) +2 (d) 2

2 g}
8 8
coasz + 311;2 = iy then the

correct relation is :
% X cosg-Ysing =\ +y7 IR

cos’® .| sin’0 _

a2 . a1yl %, 7 =El
HEy 4 B
2 2 2 2
ralﬁz——ﬁfl (b) Zr+&r=1
2 2
@ F+5=1 (@ 5-%=1

176.

177.

, where

w| =

If cos?p — sin?e

0< 9< then the wvalue of

?

costg — sin'g 1s :

2 el

W=

a8 cosZp — sinlg =

0< 8“"% 2, 9 cos*g — sin‘g #
o G H

1 2 1 2
@3 ®3 @©35 i
If 3 sing+ 5 cosp = 5, then the
value of 5 sme 3 cosgwill be :

aff 3 sing 0059—5% il 5
Slna—ﬂ MSWN%I i e o

@ =28 () as

G 307 (d) +1

]?;8 1f“§1ne + cosg = J2 sin (90°
A “"&{ — 5) then the value of cot g 1s:
afe sing + cosg = 2 sin (90°
-8) ?ﬁcota?ﬂ'qﬂ'cﬂ'l%?
(@) —2-1 (b) 2 +1
(¢) J2-1 (d) —2+1

179.

180.

181.
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sin® + cosH

If = 3 then the value

sin®-cos B

of sin*g 1s :

@) 5o (b) 2
©) @z

If0<g <90° tan @ + sin) =m
and tang — sin@ = n, where m
= n, then the value of m?- n?
is:

(a] 2(tan®*@ + sin®*@g)

(b)4 mm
(€) 4/mn
(d) 2(m>+n?)
If O< A< 90°, then the value of
1 1+(secA-tanA)’
EcotA cosecA (secA-tanA) | °
(a0 (b) 2

1
(e 1 @ 5
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182. The value of following is:

sin 6 cosecO tanBcotH
sin 20+ cos =0
@2 (bO (c) tang (d) 1
183.If cosh + sech = JE , then the

value of (cos®*@ + sec?Q) is:

1
(2) 3 (b1 ) 2

184. The maximum value of 1 +

(c) O

(x ) X

511:1[“1"'9/‘ + 2cos [“;}‘ - BJ for real
values of gis :

0% dAredfaw = # f@u 1 +

sin[%+9]+ 2cos[£_el Eal
sfywan W F0 Tm?
(@ 3 M®4 ()5 (d6
185.If A x tan(@ + 150°) = B x tan
o -
(6— 60°), the value of A+ B
s A x tan(@ + 150° = B x tan

(0= 60°), 4~ ¥ ¥ 1 Em?
sir1 6 in2e
(@) - sin (b) Sl[;
cos26
(c) (d) 0

186. Find the value of Sin225° +
sin’65° + cosec?57° - tan?33° :
Sin?25° + sin’65° + cosec?57° —
tan®33° # A FE@ H
@1 B2 ©3 A 0{’"

187.Find the value of (tan@) I’L
sec20) (1 + secd40) ( ‘sec‘SG]
(tanB] (1 + sec20) (¥ sec48‘]

N

(1 + sec860) =1 _af, e em?
(a)tan109 ‘| (b)fang 6
(c)tan 1 [,d] 1

188.I1f 6 sm"'[}’q: 3 cos“e = 2 then
the value of [ 7 cosec °g + 8
sec®g|"? is:
afg 6 sin*g + 3 cos*p =2%,?ﬂ[7
cosec ®@Q + 8 sec®@|'* = WM 2
(@2 (B4 ()8 (d6

5
189.1If sing = 1 and g is acute,
what 1s the

(cot 9+tan9) ?

value of

info@spardha.guru

ﬂﬁsme=%3ﬁie=ﬁ3ﬁmﬁ‘la‘r

J(cotO+tanb) #1 A o €7

197. The value of cosec’60° + sec?
60 — cot’60° + tan®30° will be :
cosec’60® + sec’60 — cot?’60° +

tan?30° F1 HE 1 B?

2 2
5 P15 @5 (155 (55 @55
-2 13
lc) 7= d = 198. Ina AABC,if4,A=3 «B=
] J2§sj119 = 2/15 12 «C, find 2£A?
lgo.m simplifies to: AABCTH afE4.A=3 2B=12
2it0 sCHL, @ 2AHE bel?go
cosB(1+tan?P & ALl Eal (a) 2_2'5: . =
(a) coi;e ] (b) cos2p (c) 6?'5 d)112.5
(c) sin2 g (d) sing 199.1f pis acu 3 angle and
3 sin( (0 +18°}; §,}then the value
191.If tan® =Z JFind the value of of Ain cula measure 1s:
cos20: m‘”ﬂ:% 'ﬁTI'UT g st (0+18°)
o= yz,}gi al =T W " 9 F WA
afg tane—— @ cos20 ® HHA g;ﬁ:ﬂﬁéf(m?
T Fw o % n /12 Radians
(a)24/25 (b)16/25 b "'"3 (b) = /15 Radians
() 7/25 @9/30 Q)" ()21 /5 Radians
192.s1n%*B — cos*B 1s: oyt .
sin*B— cos?O . A\*@é (d)3n /13 Radians
(a) cos 20 (b) Bfﬁ 1113 % 200.1f g is positive acute angle and
(c) sin2 Cds 50 4sin®p =3, then the value of
193.1f tanB — t, 23’1;,. 1, then the tanf — cot /2 is:
vahas of o g sec't s o 0¥ = F B I 4sing = 3,
ff?’:}mj{;e;;f W dacttl- e dl tan@ — cot@ /2 F HE BT
4\ (b )2 (40 r
194 [??r th::e lvalue cllf] Bcos [101° cos s ()0 @5 @ V3

fl{;;?ﬂ" cos 40°:
8cos 10° cos 20° cos 40° &1 HH
T T

(a) 2cot20° (b) 4tan10°

(c) 1 (d) cot10°
195.The value of sec?l7°

tan?73° sinl17°sec73° 1s

1 ;

sec?17° — M— sinl7°sec?3°

F OHA FT E7

@1 MmO (-1 (d2

196.1f x= a cos@cos0, ¥y = a cos@
sing¢and z = a sing, then the
value of x® + y* + 2° is:
¥ x = a cosQeos o,y = a cosp
Sinq}fi-fﬁTz:asinG Al x2+y2 4+
22 %1 qH 27

(@) 2a®> (b) 4a®> (c) 9a® (d) a®
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X
201.1f sin31° = ‘;The value of sec
31° — sin 59° is

x - -
1% sin31° =;;€[ dl sec31°® — sin
59° F WA F B?

xﬂ xﬂ
@ 5o Oy

2 xZ
© e @ " oe

(SSC CGL Pre Exam 2016)
202.1f 9 >0, be an acute, then the
value of § in degrees satisfying
Cos20 —-3Cos0+2
Sir0
afz >0, s = &Hivl 2, al
Cos?0—-3Cos 6+2

=1lis:

Sinfe =1 # Fq= F
T 0 F TH FHaa feit @ 22
(a) 90° (b)30° (c) 45° (d) 60°

lie
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203. The value of cot17° (Cot73° Cos?

22° + Jis Cot 17°

Cot17°Sec?68°

(cot73°cos?22° +
F1 H T E?

Cot17°Sec?68° )

(@0 (b)1 ()27 (d) 3

204. g1s the positive acute angle
and sin@- cos® = 0, then the
value of sec@ + cosecf is :
0TF YO IAEM T 3N sing—
cos@=0, & 1 sec@+ cosech I

T 4 Hifau?
(@) 2 (b) ¥2 (o) 242

2tan53°
Cot37°

Cot80°

(d) 342
Cot80° .

205. The value of 1s
tanl0°®

2tan53° s %
Cot37° tanl0° '

@3 ®2 (@1 (dOo
206. f o+ pf=90°and o: f=2:1,then
the ratio of cose to cos fF is:

AT a+ f=90° 3R o: =2 1,7
cosg 9 cos f I IIE 1 22

(a) 1: /3 (b) 1:3
(e} L:ifa (d)1:2

207. If gis positive acute angle
and 7cos?@+3sin?Q =4, then
value of g is :
qfe g wEIHE A HU E R
7cos?g+3 sin2g =42, d g =
HE F1 §7

(a) 60° (b)30° (c) 45° (d) 90/

208. If tan (5x - 10°) = cot [5y~+n2
then the value of x + ¥,
af tan (Sx— 10°) = cef:(Sy+ 20°]
Tt x + y = HH 7

- »f
(@) 15° (bp16° {géz— (d) 24°
209. The least’fa el tan?x + cotx is:
tan?x + cot?x F1 =AY WA F §7

l,x

(a3 (b2 (c) O (d) 1

210. If cos 27° = x, the value of tan

63° is:

A€ cos7° = x%’l, 9 tan63° T

HH F1 B

& X

(@) i (b) m

(0) (@
10 |
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211. If cos?xtcos*x = 1, then tan®x
+ tan*x = ?
& cosxtcosix = 1 &1, dl tan2x+
tan®x H1 AT FI &7
(@) 0 (b) 1
(c) 2tan®x (d) 2tan®x
212.Value of (cos53°-sin 37°) is (cos
53°-sin37°) & WA F 27
(a)0 (b) 1
(c)2 sin 37° (d)2 cos 53°
213.1f cosec@ +sinph=5/2 then the
value of cosech—sin@ is :
% cosec @ +sin@=5/2 ¥, 9
cosec §-sin@ F TH F@ FHifw?
(a)=3/2 (b)3/2
©-v3/2  (d)y3 /2
If sec(4x — 50° = cosec (50° —
x), then the value of x is

214.

af% sec(4x — 50°) = cosec (50° —

219.If tang =

J1—-sin®
Jl+end =

the wvalue of

8
15°

_ 8 & 1-5in@
AR tan = 1o B, A gy WH
T Hifeaa?

(@ 1/5 b)2/5
(c)3/5 (d) 0
cos 0 cos B
220. If = 4 then the

. + .
sinf@  1l+sin®

Value of § (0< 0, 90°) 1s :

cos 8 eiéﬁ _

1-si sm}cké“e 44, o
(0<g< 9@9]*#1 M wAE?
() 6O, [E] 45° (o) 30° (d)35°

2231 s&c}l B=cosecl156 (0°<0 <10°)
0O 1" the value of 0 is :

s P f& sec 156 = cosecl5H
X), [ X F HA F &7 LIy (0°<B<109® @ g T HE I E?
(@) 45° () 90° () 30° (805" (0°<B<107% T @ i

215. If #sin 9= l,ﬁcose i «vﬂi@ﬂ

e
Rl #

g rsin g ,"~ﬁ:c6§9 =1 @, @

{ 3 tanj.= F HA F B
7o

- 1\_;rf:>1 G @2 @

™

2@ “'If in a triangle ABC, sinA = cosB

vﬁ1'_herl the value of cosC 1s &
“; Ifg wF a9 ABC ¥ sinA = cosB
g, 1t cosC =1 #F fRaw 272

3
@ 5 )0

ol

217. If sm@x*cos@ = %3 The value
of smp —cos@ 1swhere 0°< g <90~
i sing Xcos @ = }/2 B, Wsing —
cos@ = HH 1 &, Tl 0°< g < 90°
@O0 (b)y2 (€2 (d1

218.The value of

(c) 1

sinf + sind .
cosh Toep®

sinb i sin@ i s 4
l+cos8 1-cosb
(a) 2sin@ (b) 2cos @
(c) 2seco (d) 2cosec g

Copyright © All Rights Reserved | https://spardha.gurw/

(@ 9° (b)5° (c)8° (d)3°
222.If 3@ = s1n?30° + 4 cot?45° — sec?
60°, then the value of x (x> 0) is :
afz ¥ = sin230° + 4 cot?45° —
sec?60° &, @ x (x> 0) F 71 F1 &7

A Vb1 @0 @
223.1f 7sin?8 + 3cos?d = 4 then the
value of sec6 + cosecf is :

I 7sin?0 + 3cos?0 =4 & a1 sech
+ cosecO F HH HT BIM?

2 2

Bl 25 <<% B Ft2
2

) 73

(d) None of these/z ™ & =g =&l
224.The value of

[sin9+sir1¢ +cosB—cos¢J .
1s:

cosB+cosd sinb-—sing

cosB—cosd |

\ cosB+cosd sﬁle—sﬁwJ E?I'I:IHE?IT@
@1 ®2 (9, O

225.1f cotg=4, then the value of
5sinf+ 3cosH
S5sinB - 3cosH

. 95sinB+3cosb
AR wotg=t WA 5sin6-3cos 6

T T =qre?

-17 1
(@) —— 0) 3

[ sinB+sin ¢

(€3 (d)9
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226. The value of (1 + tan®g) (1-
sin®@) 1s :
(1 + tan®@) (1- sin®@) =1 "M
T B
@2 (1 (-1 (@-
227. If rsing = 1, rcos@ =./3 then

the value of rPtang 1is :
af% rsin@ = 1, rcos @ =/3 @, @
rPtang # AH FaEd?

1 4
b7z © 3 45
228. The value of the expression (1
+ sec22° + cot68° )(1 - cosec22°
+ tan68”) 1s :
(1 + sec22° + cot68° (1 -
cosec22° + tan68°) #sF & A

(a) 4

AT

(@) 0  (b]- 91 (d2
229 If xsin®Q + ycos?@ = sin Qcos

0 and xsin@- ycos@ = 0, then

the value of X2+ y2equals :

aff xsin’@ + ycos’f = sin
g cosp B 3 Xxsin@-ycosp =0
B Al 2+ y2 F AE FqEY ?

(@1 (bj2 () 1/2 (d) 3/2
If secg + tan@=m(>1), then
the value of sin g is (0° < § <
90°) -

af§ secd +tan@=m(>1) & @ sin
0 T HE T FE? (0° < ¢ < 90°)

2
m

230.

%
1~

(2) 1+m> ®) m>
3 2 s
m+1 14+m e,
(c) (d) ‘fﬁ 4
4 T-m2 e N
231.I (a®-b?) sing + 2abcoaﬁ) ‘=&9 +
b2, then tan@ : A% A
afz (a2- b? sin@ bcos{-} = a2
+b? & @ tan :;
w g (bl oy
&) —=
by* o 2ab
(Ib & —b*
(c) P d) &5
232.1f 2ycos @ = xsin @ and 2xsec @

- ycosec @ = 3, then the value
of X+ 4y21s :

aff 2ycos@ = xsin @ WU 2xsec
0 -ycosec § =3 Bﬁ'{%ai?ﬁ)é+4y2
1 °E FA B 2
(@)1 (b3

()2 (d)4

of

233.The expression (a)x*+y?*+3=1
Cot6 +Cosec@—1 . . (b) x*y?(x2+y?+3) = 1
Cot6+ Coseco+1 ° equal to :
(c) 223(2+y*5) =
Cotf +Cosec -1
; T d)x?(x* +y2-5)=1
N Cot@+ CosecB+1 gy )
A 239.If x tan60° + cos45° = sec45°
BT
then the value of x* + 1 is:
14+Cos @ 1-Cos 6
(a) Sinf (b) Sind 4fs x tan60° + cors45° = sec45°
Cot611 g oo g+ 1A 2
() Cosesf (d) Siné 6 7 5 6
234.1f secA + tanA = a, then the @= (b= @©= @z
value of cosA is : 7 6 6 5
af% secA + tanA = a, B T cosA F 240. x, v be tw? acut '__{ gles, x +y <
T B 90° and sin(2:4#20° = cos(2y +
) 20°), th? ﬁl%e.mﬁf tan(x + y) is:
a® +1 o S o
@S M) g 5 7RI L, 5y < 90k
a2 o 2a suﬁ@i} ~.20°)= cos(2y + 207,
(<) (d) 27 OPsQFT o) o e
235.1f cosx. cosy + sinx.siny = -1 | ¢
then cosx + cosy is: f«} (@) 3 (b) \/_ (c) 1(d) 2+42
qﬁ?ﬁCOSl ::-osy * sinx.sin “’j‘ ? 241 If a®sec®xb*tan®x = c¢® then the
W Hleaaxt cogy I HH E value of sec®x + tan®x is equal
@)~ [8) 1 © & (d‘h to (assume b?==a?):
236.The value of the ngn 2 .
2 . 2 2. = .2
(sin®@ + cos®p) €8 [gln 0+ AT a®sec’x — b*tan’x = ¢ &,
w 2 24 = e
cose]+llsfpx sec2x + tan?x = ¢ &, dl sec®x +
e L0 costg) 3 ST TR TR
:31n9+€§§]+1mmm? ==
94 9o @1 (@2 bat2e | bt 2c
? N 2 a) b*+a® b*-a
37 4fcos0= —3 .35 then the
%:3 " Y b?-a*-2¢? b?—a?
v value of cotg is equal to [if O (c) b2+a? (d) b*+a?+2c?
)
29 2907 242. (1 + sec20°+ cot70°)(1—cosec 20°
xz yz + tan70°) 1s equal to:
= coso= "5 P B @ cota F (1 + sec20° + cot70°)(1 — cosec20°®
+ tan70°) fFad a&w gm?
mmﬂwﬁm?[uﬁo <8 <90°] an70?) @
@0 ®m1 (g2 (d)3
) 2xy (5) 2xy 243.1f tan*g + tan?@ = 1 then the
a
@ -y? X +y’ value of cos*g+ cos?@is:
2+ K2 —y? a5 tan*@ + tan® @ =1%l, T cos* @+
() 2xy (d) 2xy cos*@ |1 HH F1 BAMY
238.1f x = cosecf- sinfand y = B2 {HO (c) 1 (d) -
244 The value of 8(sinfg +cosfg)-
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sech— cosB, then the relation

between x and y 1is: 12(sin*® + cos*A)is equal to:

afe x = cosecd— sing 3T y = 8(sin®p +cos®f)-12 (sin*p
secO— cos 8%, d@ x ¥R y & &= +cos* @) F HA & TrM?
ey g@m ()20 (b)—20 (o) 4 (d)4
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245. What is the simplified value of
cotA+tanB 5
cotB+ tanA

cotA +tanB -
Sl S e Eeticic 7
cotB +tanA il &

(a)tanBcot A (b)tan AcotB

(c)tanAtan B (d) cot Acot B

246. What is the simplified value of

)
¢ ?
cosecA + cotA !

]_ 1
[cosecA+cotA] WP qﬁw%?
(a)sec A+ tan A
(b) (1 — cos A)/(1 + cos A
(e) (1 — cosec A) /(1 + cosec A)
(d) sin A
If cos?0 — sin B =1/4, then what
is the value of sin8?
af¢ cos20 - sinb =1/4 , @ sin6
1 HE F B
(a) - (b) 1/2
(c) 1 (d) 3/2
What is the simplified value of
tan (@ /2) + cot (8 /2)?

tan (8 /2) + cot (8 /2) F1 H&iFd

247.

248.

HH N §?
(a)2coseco (b) 2sec
(c)sineg (d) cosecs

249. What is the simplified value of

[(sec®x — tan®x) [ (secx — tan x)]—
2 tan®x — secx tan x?

2 tan’x — secx tan x 'y

HH 41 €7 ‘
@0 (B2 (o f 1
250.1f sin®@ + cos®@/~.1 = 0, then

what is th e;iﬁ'f“;r of cos?8

sin’@ (If 7&0“9? wr /2)?

Ift sin® ;Féosée -1=0% @
cos?@ sin’e =1 "R ¥ ¥7 (IR
8 =0or 7 /2)

(@) -1 (bjO €1 (2
What is the value of tan 6° tan
36° tan 84° tan 54° tan 45°
tan 6° tan 36° tan 84° tan 54°
tan 45° # | F 27

(a)1/2 (b) 1/ 42
(c) 1 (d) 1/3

251.

12 |
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[(sec®x — tan?®x)/(secx — tan ,g'f"— »f

252.What is the value of 1/./2 Cot
30°+ 1/ ./3 Cosec 60°?

1/J2 Cot30°+1/ /3 Cosec 60°
w TH FE?

(a) (3v3+242) /32
(b) (343 -242)/342
(c) (3v3+242)/2

(d) (3v3-2v2)/+2

253.What is the simplified value
sin2A
of 1+ cos2A ?
sin2A
l+cos2A T el w7 E 7
(a) tanA (b) cotA
(c) sinA (d) cosA
254.What is the simplified value of
secA F
[cotA+tanA] 3 - ¥_}
secA = \1 -
[cotA+tanA] £ «(ﬂluhd fn'—l@“‘%’
(a) 1 — cos®A [b]&&fs
(c) sec?A d] 0‘7@6& é
255.What 1is the-ﬁlr@@.tﬁed value of
1+tanA, ta&pué)?
[1+tanA“ta1}§(?ﬂfj2] T WEAERT T
TN )
yeinh/2 (b) cosA
~[e)secA (d) sinA

256’ What is the simplified value of
sin? (90 - @) — [{s8in(90 -
8)sinp}/ tang|?

sin? (90— @) —[{sin(90-p )sing}/
tang | = e @ 0 87

(a) 1 (b) cosecp
c)O (d) cosp
257. What is the simplified valie of
cos’®@ _ sin’® |,
1+sin® 1+cosb |
" cos?@ sin?9 |
I_1+sin9_1+cost9:] b e
1 77
(a) sing (b) 1 —sin2p
[c) 1+ sin2g  (d) 1-sing

258.1fSsecg —3tan § =5, then what
isthevalueof Stan O — 3 sec@?
qfz 5secg -3tanpg =5% @5

tan g — 3 secg T WA F EW?
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>

@1 (M2 (3 (4
259.1f sec?® + tan?® = 5/3, then
what is the value of tan26?

af% sec?@ + tan®@ = 5/3 %, @

tan 20 1 AH T EW 2

(@ 243 (b) V3 (o) 343

(d) Cannot be determined
260.If sing+ sin5Q =sin 39 and O

< g< (#/2), then what is the

value of f (in degrees) ?

ufE sing + sin = sin 3 g O
<9< (7/ ?iﬁ 61 7 (ferit )
1
(2) 80." [brﬁs (c) 60 (d) 75
261 What ;ﬁ “the simplified value of
¥ Coded2A+cot2A?
b € sbseconsooton = e FH A E?
L (a] secA (b) sec(A/2)
(c) cotA (d) cot®A
262.1f A = 30° B = 60° and C = 135°

then what is the value of sin®
A+cos®B+tan®*C-3simnAcosBtanC?

afg A =30°, B=60° @ C = 135°

#.d sin®A+cos®B+tan®C-3sinA

cosBtanC 1 5 1 g7

@0 ()1 (98 (d)9
263.What is the least value of

tan? g +cot? g +sin?p +cos?g +

sec?p+cosec?’p?

tan? g +cot? g +sin? g +cos?g +

sec? @ + cosec? 1 FAGH HH F1 7

@1 M3 @5 @7
264 Wht is the simplified value of

(sec A + cos A) (sec A — cos A) ?

(sec A + cos A) (sec A — cos A) Fl

leAtRd 1 °E 1 2

(a) tan?A (b) 2tanzA

(c) sin*Atan®A (d) sin®A+tan®A
265.What is the simplified value of

cosec A P 5
cot A+tan A )

2
cosec A
e ——— m 7
[cot A+tan A} H I
(a) 2 cos?A (b) 1 — sin?A
(c) sec?A (d) sec A tan A
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266. What is the simplified value of

cotA 2

t‘c’iﬂA _ 2
1-tanA sin2A

1-cotA

tanA . cotA 2
1—cotA 1 tanA  sin2A

1 T A R ?
(a) -1 (b)O (c) 1 (d) 2
267. What 1s the simplified value of

2

?
cot§—+ tané
2 2 )

2

A |1 WG 99 4 87

(a)sinA (b) cosA/2
(c) cosA (d) 2einA/2
268. What 1s the simplified value of

coté-+ ta.11-—
2

1 2
—— | 7
[secA+tanAJ )

1 2
— m =)
[secA+tanAJ e o

(a)sinAcosA  (b) sinAcosA
(c) (1-sinA)/ (1+sinA)
(d) (1—cosA) / (1+cosA]

269. What 1s the simplified value of
(cosec*A—cot® A) — (cot*A + cosec®A)?
(cosec* A — cot® A) — (cot* A +
cosec?® A) F1 Hlelsd HH I 7
(a0 (b)S ()6 (d)9

270. What 1s the simplitied value of
(cosA + sinA) (cotA + tanA)?

(cosA + sinA| (cotA + tanA) &1

GGt

(a)secA + cosecA T,

(b) sinA +cosA 4‘5 ool

(c) tanA + cotA (d) seé:é “cosecA
Qtan 30°

L wEplQr=
Ty fgé'@:?‘ sec?0

X sec 60 fhm‘»the value of xis:

i 2tan %22‘_‘

271, If

T 7300 T S€c?45° —sec’0°=
x sec 60° %, @ xF 7H F1 27
(@2 (b1 (0 (d)-1

272.If 2cosg= 2 - sing, then what

1s the value of cosg?

4% 2cosf=2—sin@, 9 cos® F
a4 Bm?

(@) 1 or 3/5 (b) lor-1/2
(¢) -1 or-1/2 (d) -1 or 3/5

g D

273.What 1s the simplified value
sec*p— sec’gtang?
sect §—soc” @ tan’@ T T HH I 87
(a) cosec? @ (b) sec?@
[c) cot?@ (d)secptane

274.What is the simplified value of
[sinA-cosecA)(secA-cosA) (tanA
+cotA)?

[sinA-cosecA)(secA-cosA)
(tanA+cotA) = TElHd HH F1 87
(a) 1 (b) -
(c) O (d) 2
275.1f ( 1/cosg) — (1/cotg) = 1/P,
then what is the value of cosg?
(1/cosp)—(1/cotg)=1/P %, &
cos@ T TH F1 B
(e) P+ 1)/ (P— 1) (b) (P* +1) /2P
() 2(P* +1)/P  (d)2P/[P* +1)
276.Find the value of cosec ®*A-cot®A
-3cosec? A cot?A

F WA A w2 f’;}
(a) -2 (b) - * s
fc) O (d) \\2)
277.1f x cosp—-sing = %I”ﬁtﬁén X2 -
(1+ x2) smg‘?tmbls
7fg xcos@‘ﬂqg =18 d@x -
(1+x) sglg;m T T E
Q& Ty (b)-1
lﬂ‘@‘ J (d) 2
r \-\w’
f?gjf tan A = 5, tanB = 3 then
what is the value of tan (2A+B)?
1 : -
ufg ta_t1A=§ T tanB = 3 #, @
tan (2A+B) &1 §F 1 g7
(a) 5 (b) 3
c) 1 (d) 9

279.What 1s the value of sin (-mt/
3)+cos (-t /6)?

sin (-1t /3)+cos (-1t /6) F1 HA T 22
(a) O (b) 1

[c) 2 (d) 3

If ‘g’ is acute angle and tang-
cot g = 0, then what is the
value of tan®® g+ cot!® g?

A g H =0 & 991 tang-cot g =0
% dtan® g+ cot'® g F WH F B
(@) -2 (b) O

(c) 1 (d) 2

280.
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jﬁ;

cosec °A-cot®A -3cosec? A g;ot”'g& -

281.1f sin30sec26 = 1, then value
of [3 tan? (568 /2)-1]?
A€ sin3Bsec20=1 2, @ [3 tan?
(56 /2)-1] =1 \F 0 BM?
@0 ®m1 (@2 (d3
282.What 1s the simplified value of
(cosec A+sin A) (cosec A-sin A) ?

(cosec A+ein A) (cosec A-sin A)
1 Ttk WH 11 87

(a) cos® A+ cot’A (b) 2 cos?A

(c) 2 cot?A (d) 2 cos A cot A

. Cot@ + Cosec@-1 .
283.The expression of “ 0o o i

o Cot d
v {C‘J‘Q‘ﬁc 56 (d Siné@
28@[&j fis acute angle and

sin(Q +18°% = 1/2, then the value
of pin crcular measure is:-

a5 9= HI B SN sin(p +18°)
=1/2 %1, @ THE 99 G 9 FH TH
ferae Zmm?
(a) n /12 Radians
(b) = /15 Radians
(c)2n /5 Radians
(d) 3x /13 Radians
285.What is the simplified value of
[2/(cotA-tanA)]?
[2/(cotA-tanA)] F1 Telgd HF F1 €7
(a) sin A cosA (b)tan 2A
(c) tan® A (d) sin® A cos®A
286.What 1is the simplified value of

’cosecA—] -
cosecA+1
cosecA-1

cosecAtl

(a) cosecA

1 TleAtHa W F €2

(b) secA-tanA
(c) cosec?A (d) tanA-cosecA

287.What i1s the simplified value of
(sec*A-tan?A) -(tan*A+sec?A)?
(sec*A-tan?A] -(tan*A+sec?A)w1
TR 9 #1872
(@ -1 (b)-1/2 ()0 (d)1

288.What 1s the simplified value of
[(tan?@-sin?p )/tan’@ sin®g]?
[(tan®*Q— sin®*@)/ tan®@sin®Q]
F1 TR W P 27
(@ -1 (b)O (c) 1 (d) 2

|13

www.spardha.guru



289.1f cot A = n/(n+1) and cot B = 296.What is the value of (@ 1/2 (b)5/2 (c) O
1;’1[21'1 ;—1]1,: Tianglat 1s the Lsecﬂ;’(secé’—l) |+|:seci9f[se{:9+l)}? (d] Both 1/2 and 5/2
value of cot ) - - 302.1f cotA= [sinB/(1-cosB)], then

afe cot A =n/(n+1) T cot B =1/ [scc/(secO-1) | +[secd/(secOt1)]m what is the value of cot2A?
(2n +1) 2, cot (A + B) F1 7 1 &7 - 4R cotA= [sinB/(1-cosB)] #, @
(@-1 (b0 (1 (d)2 s cot2A F HH 1 EF?

990 Whit-is the shaplifisd whas of (@) 2sin’@ (b) 2(1+tan’ 8) @) cot(B/2)  (b) cot2B
(1 -sinAcosA)(sinA +cosA)? & e (@) sin’ (c) cotB () tanB
[l—sinAcosA)(%sinA +cosA) T - 303. AABC is right angled at B. If
e W 7 1 ’ . : '

< 297.1f cosecH =E+-’C ,then what is #A=60°, then what is the value

in° 2 a3 3
a) sin"A-cos A sm-A+cos’A
& t the value of cosec§ + cotp? of _COSECCQ

(c) O (d) cos”A-sin’A ; AARBC , FAFI U1 2| afg
291. What is the simplified value of afz cosec @ =Z+-’f?, T cosec@ P GOO%E mm C = TR T
1-sinA 9 +cot@ = = = 2 (8) 2/{30 ,.xw(b} 2/3
[FsinA e (b) x OUDBE @ V23

T (c) 4x (@) 2xor 1/(2%) 30404 ¢og8 = 35/37 , then what is
F1 TG O w37 298.What is the simplified value of (> the value of cosec 9?

HrsmA sec’A -tanA -3sec’ Atan’A ? f*; "9t cosg= 35/37 %, Tl cosec g
(a)tanA (b) secA ) wm R w2
(c) secA+tanA (d) secA-tanA sec’A -tan°A -3sec’ Atan” Aﬁw} st (a)37/12 (b) 33/12
292 What 1s the Slmp].lflcd the W HE = %, " il& [C] 35‘/12 [d] 12!135
value of SiigA"'coigA . (@) - [b]ﬁ 305.\;\2:it 1st the6;'-:_:1)ue of (1/2) sec
(©) 1 @ Satna s
1 1 299. What is tl}g‘gi;xpilﬁed value of (1/2)sec 30°+ /5 tan 60° %1 #AH
‘A coszA F Wl W &2 =T B
sixy (coaec&’smﬁ;) (secA-cosA) '
(a) sinAcosA  (b) tanA +cotA ' ﬁﬁ* ) tA)g (a) (1+3v2) /3 (b) (Y3 +2) /Y3
(c) sin2A (d) tanAcotA g’
: () V3 +2 @) (V3+2)/2
293. What is the value of [1/(1 ~tan g)] . ,‘zﬁtnsecA -sinA ) (secA -cosA)
—[1/(1 + tang)]? (¢ 306. A DEF is right angled at E. if
+ qieflshd ? =45° ]
[1/(1 —tan@)] — [1/(1 + tanﬁg;]‘] (tanA COIA)W RG] % 2D=45°, thenawhat is the value
SO "/ @-1 (o (c) 1 (d) 2 of cosecFcotD?
,.,3 300.1f cosec?g = 625/576, then ADEFE W gosm 21 afs ~D =
(a)tang (b) cc%:;.g sobiatis idvevalivs of 45° %, cosecFcotD F1 HH 1 27
tan2
o € [(sinﬂ-cose)f(sin8+(:059)}? @)1/ (B2 (=) 1/2 (d) 5
294.If tanp + cot 9! l‘ then what 1s & cosec?p = 625/576 &, 4 307. AABC is right angled at B. If
the value of tanif, + cot'6? : #A=130°, then Sec C =?
afy tanef{;&aﬁé X%, tan@ + [(Sme'msg)‘{(Sine“Lmse)]m bl AABCH, B ¢ 9u&ivl &1 &N
COHG aﬂﬁ'ﬁ'w%} wg:rrn? ~A=30° é‘}?—ﬁsecc=?
(8) (°-3)2+2 (b) (-2 +4 =) By SL/LY ;i
o s (c) 17/31 (d) 14/25 (2) 1/2 (b) 1/2
(e)x(x=4)+2 (d)x* (-4 +2 301 What is the value of (c) 2 (d) 1/43
295.If tan®g + cot*@ = 2, then what 3( cos39 — — 308.1f sin6=20/29, then what is the
is the value of 25ec® cosecd D E Ansl —4/Sin 39+sin” 517 value of secOsind?
A% sin=20/29 ¥, W secOsind FH
afz tan®p+ cot’p = 2 %, @i - - '
Sl : 3(@39 ~ \fsin"39+sin’ 51 e
2 1 AH Y 2\ sin51 (a) 20/21 (b) 29/20
@0 (1 (92 (4 F T 2 (c)21/20 (d) 21/29
14 ||
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309. ALMN is right angled at M. If

/N=60°, then tan L =
ALMN ¥, M HH&IT 21 ?Jﬁ
/N=60° &, @tanL=__
(2)1/2 (b) 1/43
() 1/42 (A3

310. What is the value of 2 sec 45°
+ tan 30° ?

2 sec 45° + tan 30° & 9 F 7

(a) (2V6 +1) /N3 (b) /5
(c) (282 +3) /46 (d) (9+2V3)/9

311. AABCis right angled at B. If
+A=30°, what is the length of
AB (in em), if AC = 10em?

AABC, B w ogwm 2, afz  A=30°%
a1 AB =1 o (4. #) #= 8, 9 AC =
10 =+, #2

(@) 5 (b 545 (o) 1043 (d) 10
312.If sec+cosecd=+[2sec(90-6), then

what is the value cot@?

98 secH+ coseci9=\Esec(90—€) A
cot @ Tl HH =N 22

(a) v2 (b) 2

(€) V2-1 d 2+
313. What is the simplified value of

2

[
cosect +cotd

“

| , 4 I}
1 ¢ N N/
[coseo@-rcoté’] &l ﬁ»@)\%{

(a) cosec &+tand S

(b) 5m9+c059%}x,€
(c) (1- ciﬁ}i (Lreos)
(d) (1- s1n9§f(l+s1n9)

314.If sin(8+23°)=cos58° then what
is the value of cos58?

gfy %, ai

sin(6+23°) =cos38°
cosS@ 1 WM I §7

(a) 1/2 (b) 1/4/2
(c) v3/2 (d) O

info@spardha.guru

315.

316.

317.

318.

¢ ﬁl"q’xam Y ¥ M €, sin(4x - y)

3109.

320.

Copyright © All Rights Reserved | https://spardha.guru/

_13 5
Ifxsillé’:% and .\cos{?=§ =1fz SECG_E qM @ AR E, Gl
then what is the value of x? (ot + tan6) &7
12
ania= 2B i xeond= 4 (@) == b) 57
Tfg .151119=T G -10059—5 g, 13 213
- 13 i 2
(a) 3 (b)1/2 625
321.1f (1+tan?®6)= and @ is
(€) V372 (d)5 =
acute, then what 1s the value
If 9+¢5_—7T and cosf = £ , then of (v/sinB + cos0)?
2 z
what is the value of sing ? e (1+tan29 ;395 — :
2 By =
W Srb=gx T owd=H i g u;fm, w1
sing &1 TF #4127 j
G 4oy 4 b —— 7/5 (d)5/7
(a) 0 (b) 1/2 (QL [i (c) 7/5 (d) 5/
(©) 1/42 (@1 32?1,9 sing +sin?6= 1, then what is
What is the simplified value ;ﬁﬁj the value of cps™8+ 3 cos®8 +
- | ?\
(MJ? -\‘Ms 3 cos’O+ wsﬁe_]]?
secd )

% sin@+sin?0= 1 & @ cos® +

3 cos™0 + 3 cos®@+ cos®O-1)F

HF T #?

@-1 (b0 (91 (d)2
323.1f 8 >0, be an acute, then the

value of § in degrees satisfying

cotd +tand §
{ secd J Tw =
(a) 1—cos? 4 f(@ ’751119

(c) cosec \‘ s ;[d) sec’ @
If x and Pafre positive acute
ang}érsé" cil that sin(4x-y) =1

afnd‘qgg x+y)=1/2, thenwhat
is_the value of cot (x + 2y)?

Cos?6—-3Cosb+2
Sin8

s >0, Tk A HIU ¥, 0

Cos?6—-3CosB+2

=11s

= 1797 cos(2x+y) = 1/2 %, cot
(x + 2y) =1 °F F0 FN?

X T =1 =l "ge F
@3 b5 @1 A o WM T et @ 7
(d) Cannot be determined /3w 7 (@) 90° (b) 30° () 45° (d) 60°
Tebn = | 324.If 44intg-3-pand gis acute,

If cosp+ sing= m and secg+
cosecQ=n, then what is the

%(m1 —1)?

af§ cosg+ sing= m TUT secg+

then what is the wvalue of

(cot26+ tan” (9] ?
value of

afk 4sin®6-3=0 7o g FFEM T,

005608=n%‘,ﬁtg(m2—1) ﬂmw%’} f (cat‘9+tan"9) F1 UE T OBM?

(@) m (b)2m (c) mn (d) 2n (@2 (k)0 () 10/3 (d)6
13 cosé cosé
secB="— i =4 i
If o a.emd g is acute, 325.If 1+sin(9+1—sin(9 and @gis
then whed g8 the valns of acute, then what is the value
(VcotB + tan6)? of (in degrees) of g7

|' 15

www.spardha.guru



cosd
+ =4
Lising 1-sing 1D o7

%, 9 =1 um (feift §) = 22
(a) 30° (b]45° (c) 60° (d) 90°

~ cosf

326.1f .;=é-.then what is

sinf+ cosecld

the value of ;100 1009 ?

H+cosec

S N 5
sind+cosecd 2

sin'? @+ cosect®p H A H %?

(@-1 ([®O0 (91 (d)2
327.1If cosec g +cosec?g = 1, then what
is the wvalue of (cosi?g-—

3cot!®p +3cot®g—cot®g)?

afz cosecp+cosecig= 1%,

(cos'?p-3cot!®g +3cotég—

cot® g | # W F &

(@) 2 (b)-1 (O ([d)1
328.If sing +cosg = ,f3cos(90 - @),

then what is the value of tang ?

afe sing +cosg = f3cos(90 - )

2, q tang F T TN E2

(@) 43-1 (b) /3 +1

(@ (V3+1)/2 (@ (V3
329. What is the simplified value of

-1)/2

[(1+ sec 2 0) tan” a]+1?

|:(l+sec 26)tan” 6':l+1 Eal 'm?ﬁ?ﬁr

(a) 3/5 (b) 1/5
(c) 4/5 (d) 2/5
338. What is the simplified value of

332.1f 2co0s?6-1=0 andBis acute,
then what is the value of
(cot’0—tan?g)?=fk 2cos?6-1=0
AMO AR T, A (cot?0—tan2g)

7

1 AA FEM? —Sec29+m+4sin~9?
(a) O (b) 2 () 10/3 (d) 1
74
1 —
333.If —— —— = then what is sec” 9 1+cot” 9+4sm 0 = wehiga
cos@+sec 2
e vahie of wld? 100 1o HA 87
the value of ¢os'™ @+sec’™ 9 @3 (b4 ©5 (@7
1 1 339.1If cosec @+3secd =5cosec 4, then
AR cos @ +secd _E g what is the value of cotg?

051 9 4 secl?0 g = WH F 7 AT cosec 6;+ c;a‘q: Scosec & %, @l
a)0 (b)1 2 (d4 cotd -ﬂ% o
334. What is the simplified value of [a] {}/3&\ s (b)3/4
A
l+c0tAmt{E]? o [&l % [d] \/_

1+cntAc0t[ J — mw%w§4what 1s the simplified value of

% & y “’\\i‘;\j ‘\}se029+cosec29 >
(a) COS(TJ (b) sinz( » ,zl;v»; 2
- Yy \.- 3
o, 8 2 2 =
EC} lcose{’ {A} (d) QQS«AJ See 8+Qcosec 9 &l H{Edshd HIH

335. What is the gﬁ;ﬂﬁ]ﬁed value of N B?

= £ 53 4 —~2cos’ @ ? (a] cosec2p  (b)sec 2 o
coss M:;l,#‘tan ¢ (c) cosecgsecp (d)tan o
”‘35’3 5 —2cos’ O AT X~ xtan215°

341. If =sin 60°+cos 30°

- C0s8£°0 l+tan€

Mg}mw%?

915 o
then What 1s the value of x?

—— (a) 3 (b) 4 (c) 5 (d) 7 _ p1mo
H F8? A‘ﬁ o 5 qﬁ—_x;;:ta‘zllétz =31n60°+cos 30°
(a)cos 286 (b) 1 “\”‘W‘{ 336.1f t&ﬂ9=§ then what is the ftan
N 2, T X o | o 827
(c)sec 28 (d}cgs%c LSsin? 030050 ) b1 ) w1
330. What is the simplifisd value of value of ——— %% 4 () (B} (B -2 (d)
Ssin~@+3cos™ @ .
[(l_cos 9) cost )T cot” 67 ;2 ) 342.1f €+ =—and tang=,/3,
" afe ta116=£ A 15sin” @ —3cos” 8 2
|:(1—°°5 ‘%ﬁ:@ﬁfég]—mt g =1 3" Ssin” §+3cos’ @ then what is the value of cos
TeftHa WA = 22 F T 8 (0-¢)?
(@-1 ([®O0 (9 1 (d)3 33 11 33 11
331. If cos (9 + 31°) = sin 47°, then @ 3, (b5 © 547 @35

what is the value of sins548 ?
afc cos (@ + 31°) = sin 47° &,
sinsg= A1 1 87

(a)1/2 (b) 1/2
(c) +f3/2 (d o
16 |
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bis i
a O+ = — e tan9=\/§?.
337.1f \f5tan@=5sin@ , then what is 2

dt cos (8- ) = &= #0122

() ~3 /2
(d1/42

the value of (sin2 8- cos? 9)?
At (@) 1/2

(c)1

afs Stmf=-5sin@ F,

[Sinzt?—coszg) T OHA FE?
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343.If x and y are positive acute
angles such that sin

3
[2x+3y)=%and cos (4x-3y)

3
=-2— ,then what is the value of

tan (6x-3y)?
AU X qAT Y HATHEF AR B,

(2x+3y)= \/—25 del cos (4x-3y)

=§%?ﬁ tan (6x-3y) = 5F 11 27

() 1J3 (d) /3

If 3cot@=4cosd ,then what is

the value of cos247?
4fz 3 cot g =4cosg®,d cos2g F

(@) 0 (b1

344

HH F BM?
@)2/16 ) -1/8
(c)7/16 (d)9/16

345.If cosec®’@ +cot? @ =7 then what

is the value (in degrees) of §?
afe cosec?@ +cot? §=7 ¥, AQHHA

(feuit )= gim?
(a) 15° (b} 30° (c) 45° (d) 60°
_25 .
346.1If cosecze—ﬁ and @is acute

then what is the value of

sin ) sin’®0 8
+
05?0 1-cos®® 5

acute, then what 1s the value

348.If —and Qis
in degrees) of § ?

sin’®  sin’® _8
1+cos®0 1-cos®0 5

354.Find the value of

(cotB-cosecB+1)( tanB+sech+ 1)

cosB cosecH

(cotB-cosecO+1)(tanB+secOt1)

cosB cosecB

_ 1 HF H 87
A0 T &, A 9 wA (et ) @ 22 5 ot s
@) 0° (b)30° (c)45° (d) 60° (8)2 cos@ (b}
349.1f sec 2p-sec@=1 then what is (c) 2 cotg (d)2 tang
the value of (tan'?@—-3tan'®@ +3  355. What is the value of sin 86 +sin 66 ?
tan®@—tan °Q) ? . sin 80 +sin 60 HF F1 87
7 - = 1 120_ 2
g sec 2@ -secA =14l (tan'2(@ (o sl 7800&;
3 tan’®Q+3 tan®Q- tan °9) =
T T (b) 2sin 7%}
@-1 MO0 (1 (d2 ()2 sin'(® c.-.os?e
350.What 1is the wvalue of A \&:n ‘*e c0s30
(tan’ x -sin x] 35,6,W1“yatx§ the value of
sec’ x O (}cx tanx
(tanz x —sin’x) ; Nedftanx T cotx
T—W'ﬂﬂ W%? f{; cot x tan x 1 TH 37"%7
‘{U ?w} l-tanx l-cotx '
(a) sin® x (b) cos? x A (a) sin x cos x +1
(c) sin® x (d) %,QS" xCJ (b) sec x cosec x +1
e\ &) (c) tan x cot x +1
. 1 ®))x ; :
351.1f sinx =—and ol = /5 then (d) eec’x cosget ]

‘e

what 1s theﬁ(ﬁh}é"}of sin (x+y)?

aﬁ:ﬁmxw& ?If‘-]'lcas\.f=,l %

%ev

[#+]

(\,J'cot9+tane)? s\ulgﬂy) 1 W €7
) 2/3 (b) 4/9
cosee = f ,%52 What 1s the wvalue of
(Jcote+tan8) 1 A mﬁﬁ? - ”W‘” cos x +cosy
— =9
-J_ . Smx+51ny
@ 2 b 57 9 @ 25
¢ cos x+cosy
i R Sinxtsing B @ 87
347.1f tan@=J— ‘agd @is acute, sinxramy

o N0
then Whixt“‘é‘ré the wvalue of

cosec’B-sec?0

cosecB+sec?®

Ifz tand (awew%m

cosec’0-sec’®

cosec’O+sec’® WA 2
(a)2/3 (b)3/4
(c)S/6 (d)6/7

info@spardha.guru

|a) tan [x—;y] (b) tan [%J

x—y X+y
[C]CGt[ 2 }[d]cot( 5 }

353 What is the value of sec12°
sinl12° tan 38°an 78°tan 52°?
secl12%sin12° tan 38°tan 78°tan
52° T A W §7
(a) 1 (b) 3
[c) 1/2 (d) 3/2

Copyright © All Rights Reserved | https://spardha.guru/

4/ 2
357.Find the value of YcosecA-1

~GotAtEanA
\fcosech—l FT A 12
cotA+tanA '
(a) sin?A (b) cos A sin A
(c) cos?A (d)sec A cosec A
358.If 5 sin x = 4 then the numeri-
cal value of
[ tan x—cot x || cos x—sin® x
sec x—tanxJ 2c0s2 x-1
a7 5 sin x=4 %, A

[ tan X-cotXx 1 i( cos? x—sin x l

sec X—tanx | 20032 x—1
] HEATHE HF o B

3 7.9
@ 2 O @z
359.In a triangle ABC, .ABc= 75°

(b) 2

and -ACB = s The circular
measure of BAC is:-

w# fags ABC ¥, ABC= 75° 540

ZACB = Al <BACH gt A

4,
G T

|' 17
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(a) % radian (b) % radian

() % radian  (d) % radian
360. What is the value of sin (30+x)-

cos (60-x ?

sin (30+x)-cos (60-xJ%1 HF 1 &7

(a) 1 (b) 2 (c) O (d) 1/2
361. What is the least value of 15

cos2@+17 sin 207

15 cos?0 +17 sin 2 @ =JAdH HH

w1 27

(@14 (b15 (92 ()18
362.If x = a cosfcosd,y = a cos@

sinpand z = a sin@, then the

value of x* + y2 + 22 1s:-

AC X = a cosgcoso, y=a cos@

sin@aﬁ'{z=asin8 B A 2+ y?
+ 22 & HE #7187

(a) 2a® [b] 4a* (c) 92 (d) a®
363. What 1s the value of
sin & cost
= ?
l-cotd 1-tané
sin @ coséd
- F HA FE?
l-cot@ 1—tanéd

(a)sin@+cos@ (b)sin & —cosé

(c) 1/ (sinf+cosb) (d)1 / (sine-cos8)

HsinA=x-cosAandsec A=y
- cosecA, then the value of y(x*-1)
is equal to:

Af sin A = x - cos A 3 sec A =
y — cosecA ¥, T y(@— 1) # ‘I:I'F{

364.

TEL B:
(@) 3x  (b) gy. [c] 2xy (). @’&
365.What is “f

Vagt

\/%ecz A +cos E‘CQA '?fs

\/sec 1¢\+c0$94;"’#g Eﬂm_‘ﬂ%?

(a)sec A + cosec)A
(b) cos A -,k‘ sﬁft’?{
(c) tan A + cot A
(d) sec A + cot A

t2x
L)

then what is the value of x?

366.1 (?hfl- cot X,

cotgx

(1+6) 2

F WH F 7

(SJ_)—cot)L% dl x

18 |

T T
(&) 57 b5 55
P Fid
€) 62 (d 7.5
367.(cosA+sinA)’+(cosA-sinA)3is
equal to:-
[cosA+sinA)>+(cosA-sinA)? fEos
T 7?7
@1 M1/2 ©2 (o

368.If cosC-cosD=x, then value of x is:-
7 cosC-cosD=x ¥, &l x #1 TF &1 &7
(a)2 sin [(C+D)/2]cos[(C-D)/2]
(b) 2 cos [(C+D)/2] sin|(C-D/2]
(c) 2 sin [(C+D)/2] sin|(D-C)/2]
(d) 2 cos [(C+D)/2]cos[(C-D)/2)

(c) 2cos[(C+D)/2]sin|(C-D) /2]

(d) 2sin[(C+D)/ 2cos|(C-D) /2]
376. What 1s the value of cosec(-150°)?

cosec(-150°) #1 HA TN 2?7

(a) -2 (b)2/./3

(c) 2 (d)-2/ 3
377.1f tanA - cotA = x, then value of

X 18-

A tanA - cotA= X ¥, A X = AF =1 87

(a] (1+2cos®A] / (sinAcosA)

(b) (sinA cosA)/(1-2cos?A)

(c) (sinA cosA)/(1+2cos?A)

(d) (1-2cos2A) gﬁA cosA)
378.What is tl}}e (‘alné of cot210°?

369. What 1s the value of tan(-5 7 /6)? cot2 100‘?]5 'FLH w7
tan(-5 7 /6) ®1 HE T §7 [aaf@ (b)-1/ 3
(a)-1y3 (b) 1/ 3 ic) R}’j} (d) -3

WV Ry
[c) -\(_4 . (d)-/3 37@} If\’ otA+ cotB=x, than value of xis:

370.Iffcos A - sin*A =x, then value ; % cotA+ cotB= x¥, @ xH T &7
o x154.— g ‘ £ \»3 (a) (cotAcotB+1)/(cotB-cotA)

A cog® A - sin' A=x%‘ E\Txﬁ?ﬂ% ; (b) (cotAcotB+1)/(cotB+cotA)
|a) cos?A-1 (b) 2 cos?

(c) 2cos’A+1  (d) cpszA+1\“‘°’g

flcosec?A-1) [ cosecﬁff;; e;hgxa'l to:-
flcosecA-1 MSBESA fﬂ?ﬂ'qz;“ TR 27

(a) cosA "g N }{b) sinA
[c) co se&ﬁ;\ J ~ (d) secA
Wl"@tﬁlg”tl:le value of sin(-7x /4)?

m{;x,# ,!4] YA T E?

Rt W (b)2/.f3

" Me1/ 42 (d)-2/ 3
373. (1+sinA)/(1l-sinA) is equal to:-
(1+sinA)/(1-sinA) fous aws gm?
(a) (cosecA-1)/(cosecA+1)
(b) (cosecA+1) /(cosecA-1)
[c) (secA +1)/(secA-1)
(d) (secA-1)/(secA+1)
If sinC +sinD=x,then the value
of x1s:-
R sinC +sinD=x ¥l x F 77 1 37
(a) 2 cos[(C+D)/2]sin[(C-D)/2]
(b) 2 sin[(C+D/2]cos[(C-D)/2]
(c) 2 cos [(C+D)/2]cos[(C-D)/2]
(d) 2 sin [(C+D)/2]sin|(D-C)/2]
If cosCtoosD = x, then value of xis:-
cosC+cosD = x &, dl x 1 7F &1 27
(a) 2cos|(C+D)/2]cos[(C-D)/ 2]
(b) 2sin[(C+D)/2]sin[(C-D)/2]

371.

372.

374.

375.
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(c) (cotAcotB-1) /[cotB+cotA)

(d) (cotAcotB-1)/(cotB-cotA)

If tan? A-sin®A = x, then value
of x is:-

7R tan? A- sirfA = x &, 1 CH A 187
(a) tan?Asin? A (b) cot?A cosec?A
(c) tanA sinA (d) cotA cosecA
[sinA/(1+cosA)] + [(1 + cosA)/
sinA] is equal to:-
[sinA/(1+cosA)] + [(1 + cosA)/sinA]
e s &7

(a) 2secA (b) 2cosecA

(c) 2tanA (d) 2cotA

If 2 cosA sinB = x, then the
value of x is?

2 cosA sinB = x &, T x ¥ 1 7H §?
(a) sin(A+B) + sin(A-B)

(b) cos{A+B) + cos(A-B)

(c) sin(A+B) - sin(A-B)

(d) cos(A-B) - cos|A+B)

383.1f cosec’A _cosec®’A = x, then
value of x is:-

380.

381.

382.

e cosec*A - cosec®A = x &, @ x
= TE P2

(@) tan®A + tan®A
(b) cot*A + cot®A
(c) cot®A - cot®A
(d) tan®A - tan®A
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384. What is the value of tan(-240°)?
tan(-240°) %1 99 1 7

(a) —/3 b 1/V3

(c) -1/+3 (d) 3

What is the value of tan 3A?
tan3A F1 AF 1 §?

(a) (3 tanA - tan®A)/(1-3tanA)
(b) (3 tanA + tan®A)/(1+3tanA)
(c) (3 tanA - tan®A)/(1+3tan’A)
(d) (3 tanA + tan®A)/(1-3tan?A)

If cot®A - cos? A = x, then value
of xis:-

4% cot?A - cos® A= X &, df X HA
-1 87
(a)tan® Asec®A (b) cotAcosA

(c) cot?A cos?A (d) tanAsecA
What is the value of tan150°?

tan 150° &I #91 WA 87
1
(a) —/3 (b) NEl
1
(c) V3 (d) B

(cosecA - sinA] (secA-cosA)
(tanA + cotA) is equal to:-
(cosecA - sinA| (secA-cosA)
(tanA + cotA) fFa® =UeR &2
@2 (0 (1 (d1/2
What is the value of cos® (A/2)?
cos? (A/2) F1 9F 1 £7

(a) (1-cosA)/2 (b) (l+cosA)/2
(c) (1+sinA)/2 (d) (1-sinA)/2
cot (-11 7 /6) is equals to:-

cot (-11 z /6) frm® amaT 22

385.

386.

387.

388.

389.

390.

@) 36 5 (@ Qgimfs‘»/

(cosecA+sinA )(cosecA— sm%‘flsmalto
(cosecA + smA}{cos "gﬁlA} fFas
TR 32

(a) tan® A‘yﬁ’n{ A Ii:] cot’ A +cos” A

(c) cot® A - {és o (d) tan® A —sin* A
What 1s the value of cos225°?

c0s225° H A T #?

(a)1/+2 (b) 2/3

(€ =2/A3 (@ -1/42
tan{A/2) is equal to:

tan(A/2) fFas amaw 27

(a) cosecA + cotA(b) secA - cotA
(c) cosecA - cotA (d) secA + cotA

391

392.

393.

info@spardha.guru

394.What 1is
sec(—27/3)?

sec(-27/3) %1 A F1 &7

(a) -2 (b) 2

(c) 2/43 (i) 255
.What 1s the value of cosec
[-77/6)?

cosec(—7z/6 ) F HA F L2
(a)-2 (b) 2

(c) 2/43 (d) -2/43
If cosecA + cotA = x, then value
of xis:

% cosecA + cotA = x %, @ x F
T T E?

(a) 1/(cosecA-cotA)

(b) 1/(secA - tanA)

(c) 1/ (secA-cosA)

(d) 1/ (sinA-cosA)
.tan(A/2) 1s equal to:-
tan(A/2) fras ausw 2
|a)tanA/(1 + secA)

(b) 1/(cosecA + cotA) "
(c) tanA/(1 + Cosc?ﬁ’ , ﬁ@
(d) 1/(secA + cotA) *-‘f_:_'fj“’"""
What is thed_.'{w5 lest form of
[1+cosA](qﬁﬁec§ cotA)?
[1+005A§00366A cotA) T HElgd

the

of

value

395

396

397

398.

= A @3 e
(mreosh (b) tanA
7(e).eotA (d) sinA

3‘99’}2&1’1 A sinB is equal to:-

j 2sin A sinB fFad wwer 27

(a) sin(A+B)+sin(A+B)

(b) cos(A-B)-cos (A+B)

(c) sin (A+B)-sin(A-B)

(d) cos (A+B)+cos(A-B)

What is the value of sin(-300°)?
sin(-300°) # WA #1187

(a) 1 (b) -3 /2

(c)-1/2 (d) /3 /2

If sec?A cosec?lA=xthen x is:-
7% sec®A cosec?A=x &, & X T A 7
(a) sec?A +cosec? +2

(b) tanA +cot? A-2

(c) tanA +cot? A+2

|d) sec?A +cosec? -2

400.

401.
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402.1f sin(x /6) + sec(r [6)=x, then
X is:-
A% sin(x [6) + sec(x /6)=x A x
1 A F7

(@) (22-1)/2 )5/ 43
(c) (V6-1)/~2 (d) (V3 +4)/2V3

403.1f tan2A-tan?B=x, then the
value of x 1s:-
If% tan?A-tan?B=x ¥, @ x F AW

T 27
(a] (s1n?A-sin’B) }{cos?Acos?B)
P
(b) (sin?A %n@]ﬂéoszA—coszB]
PR & L WP
(c) [Siuzﬁ&'{tﬁf.;}\hB] /(cos®Acos’B)
P

[d]({z'ﬁn;@smﬂsl /(cos*A+cos®B)

404 l{h;‘. is the of
m?ﬁqsé‘é{mo")?

“Cosec(120°) F1 WA N &7

(a) 2/4/3 (b) 2

(c) -2/+3 (d) -2
405.1f sec’A+cosec?A = x, then the
value of x is:-

e sec®A+cosec?A = X &, dl X
T N 8?7

(a) tan®Acot?A  (b) sinAcosA

(c) secAcosec (d) sec*Acosec?A
If tan(A+B)=X, then the value of
X is:

% tan(A+B)=X ¥, A X =1 T 1 ©7

(a] (tanA-tanB) /(1+tanAtanB)
(b) (tanA+tanB)/(1-tanAtanB)

(c) (tanA+tanB)/(1+tanAtanB)
(d) (tanA-tanB)/(1-tanAtanB)
(secA-1)/|1+secA) is equal to?
(secA-1)/(1+secA) fFms Fwat 87
(a) (1-sinA)/(1+smA)

(b) (1+cosA)/(1-cosA)

(c) (1+sinA)/(1-smA)

(d) (1-cosA)/(1+cosA)

If cos3A=X, then value of X?
4t cos3A=X #, il X ®1 5A w1 &7

value

406.

407.

408.

(a) 4cos®A-3cosA
(b) 4cos®A+3cosA
(c) 3cos’A-4cosA
(d) 3cos®A+4cosA
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409. What is the value of tan (7 7/6)?
tan(7 7/6) 1 WH F &7
(2)1/43 (b)-1//3

(c) V3 (d) -3
(1+tan’A)cotA/cosec’A s equal to:-
(1+tan’A)cotA/cosec’A fau=®
TR 77
(a) cotA
(c) sinA

If tan(A-B)
of X 1s:-

7f tan(A-B) = X &, d X 1 74 741 87
(a) (tanA+tanB)/(1-tanAtanB)
(b) (tanA+tanB)/ (1+tanAtanB)
(c) (tanA-tanB)/ (1-tanAtanB)

(d) (tanA—tanB)/(1+tanAtanB)
What is the value of sec(330°)?
sec(330°) #1 WA ¥ §7

(a)2 (b) —2/+/3
(d) 2/4/3

Jl(1-sind)/(1+sinA)] is equal to:-

410.

(b) tanA
(d) cosA

411. = X, then the value

412.

(c) -2

413.

Jl(1-sinA)/(1+sinA)] e TR 82
(a)secA-tanA (b) cosecA-cotA
(c) secA+tanA (d) cosecA+cotA
What is the value of cot (57 /3)?
cot (57 /3) %1 WA F1 £2
(a)1/3 (b)-1/43

(€) V3 (d)-y3

414.

415
afe sin3A=x &, @ x F 7AW
(a) 3sinA+4sin’A(b) 4sm3§;3‘§mx’
(c) 4sin’A+sinA (d) 3si A4sm3A
(secA- tanA]/[cogaCK+c0tA]13
equal to:- 2)
(secA-tanA)/( ess@hmom] T
TR

(a) (secA- QﬁtﬁfﬂcosecAﬂanA]
(b) (secA-cosA)/(cosecA+sinA)
(c) (cosecA-cotA) [ (secA+tanA)
(d) (secA+cosA) /(cosecA—sinA)

416.

417. (1+tan2A) /tanA is equal to:-

J(1+tanA) /tanA fres = 22

(b) sinA
(d) cosA

(a)secA
(c) cosecA

20 |

418. What is the value of sec(4 7 /3)?
sec(dr /3) =1 TH T )

(a)2 (b) -2

(€)2/ 3 (d)-243

What is the value of sin(11 r /6)?
sin(117 /6) 1 A &2

@2/ 3 (b)-2/ 3
(c)-1/2 (d)1/2

If sinC-sinD =x then value of x 1s:-
7% einC-sinD =x &, A x &1 TH 7 27
(a)2 sin[(C+D)/2]cos(C-D)/2]
(b) 2 cos[(C+D)/2]cos(C-D)/2]
(c) 2 cos[(C+D)/2]sin(C-D)/2]
(d) 2 sin[(C+D)/2]sin(C-D)/2]

If (1-sinA)/(1+sinA)=xthen x is:-
afg (1-sinA)/(1+sinA)=x %, @ x
F1 A 27

(@) (cosecA-cotA)? (b) secA- taJ:LA
(c) (secA-tanA)?(d) cosecA—

419.

420.

421.

422.1f cos(x [4)-tan(x f4]‘x,then R ds:-
afg cos(x /4)- tan[z;f‘?]“‘x %ﬁi X

H ¥ O &7

@ (3 ﬂ]!@ftb‘l 242-1)/2

(e) (lfJ"J/f (@5/43
423.Wh‘ait he value of tan (3009)?
_hta JéOO“)EFI 1 AE §?

(b) ~1/+2
(d) —/3/2

424.11 cotA/.f(1+cot> A)=x, then

the value of x is:

% cot A/4f(L+cot®A) = x ¥, T x

fi:{a) ~1/2

.If s1n3A=x, then value of x is,

A~ 0B

F AT &7

(a) sinA (b) cosecA

(c) secA (d) cosA
425.What 1is the value of

Jl(l—cos A)/(L+cos A)] ?

Jl—cos A)/ (1 +cos A)| FaR =N E?
(a) cosecA — cotA
(b) cosecA + cotA
(c) secA — cotA (d) secA + cotA
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426.1f (1 + cosA) /(1-cosA)= x, then xis:-
AfE (1 + cosA)/(1-cosA)= x &, d x
w1 HE w87
(a] cot?A [ (secA-1)?
(b) cot?A/(secA+1)2
(c) tan2A/(secA+1)?
(d) tan?A/(secA-1)?

427 1f 1/ J(1+tan®A) =x, then value
of x is:-
A 1/ J(1+tan®A)=x 2d x F1 F0
e 27
(a) cosA 1 ) sinA
(c) cosecA i‘@) secA

428 What 15{1« Jthe value of

E‘"A..&

\/[%-12?1%}/“( 1-sinA)] ?

w-,VQ[g-mﬁlA] J(1-sinA)] 1 1 oH £2
‘{h‘ @{secA -tanA  (b)
“cosecA+tanA

(c) secA+tanA (d) cosecA-tanA
If (1+sinA)/cosA+cosA/(1+sinA)
=x, then the value of x is:
afg(1+sinA)/cosA+cosA/
(1+sinA)=x &3 x %1 #0177 7

(a) 2 cosecA  (b)2 cosec?A

(c) 2 sec’A (d) 2 secA
430.If cos (2 x /3) =x, then the value

of x is:-

fE cos (27 /3) =x &, T x 1 41 7 &2

(a)-1/2 (b)1/2

(c) /3 /2 (d) -3 /2
431.1f cot (A/2)=x, then the value of

X s

4 cot (A/2)=x BAl x 1 =11 7H 22
(a] cosecA-cotA (b) cosecA+cotA
(c) secA+cotA (d) secA-cotA

432.1f tan 330° = x, then the value
of x 1s:-
af% tan 330° = x AT X F1 F1 4 87
(a]-1/V3 (b)-y3
(c)-1/2 (d)-1/+/2
433.1f sec225°=x, then the value of
X 18-
M sec225°=x &, @t x F 1 A &7
(a) /2 (b) 1/43
(©)-1 @) -1/43
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433.

436.

437.

438.

439.

440.

441
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What is the value of [1/
(sinA+cosA)]+[1/(sinA-cosA|]?
[1/(sinA+cosA)]+[1/(sinA-cosA)]
1 A F &2

(a) 2tanA/(1-2cos?A)

(b) 2cotA/(1-2cos?A)

(c) 2cosecA/(1-2cos?A)

(d) 2sinA/(1-2cos?A)

What is the value of (sinA-
2s1n®4) /(2cos3A-cosA)?
(sinA-2s1n3A)/ (2cos®A-cosA) =FT
A &7

(a) cotA (b) cosecA
(c)secA (d) tanA
If cot 135°=x, then the value of

)t.lS—
Afz cot 135°=x &, @ x F1 ¥ 9H 27

(a) -1/+/3 b) /3
(c)-1 (d)-1/2
What 1s the value of

Jli-sin A)f(1=sin4)] & AR T 22
(a)cosA/(1-sinA)

(b) cosecA/ (1+sinA)
(c)cosA/(1+sinA]

(d) cosecA/(1-sinA)

If cos|-300°)=x, then the value
of x 1s:-

afs cos(-300°)=x &, dI x &1 %1 "M &7
(2)1/2 (b) -1/+2
(c)-1/2 d) V3/2

If 2cos’A-1=x, then the value of x1s:-
7Af% 2cos?A-1=x &, a1 x T F1 °FA

(a) 2tanA/(1-tan’A)
(b) (1-tan?A) /2tanA
(c) 2tanA/(1+tan?A)
(d) (tan3A-1)/2tanA

442.1f (cotA-cosecA)?=x, then the
value of x is:-
a5 (cotA-cosecA)?=x &, @ x & Fr
T 87
(a) (1-cosA) [ (1+cosA)
(b) (1-sinA) /(1+sinA)
(c) (1-secA)/(1+secA)

(d) (1-cosecA)/(1+cosecA)

If sinA/(1+cosA)=x ,then xis:-

afg sin A/(1+cosA)=x &, @ x #
F WA 7

(a) CosecA+cotA (b) secA—cotA

(c) secA+cotA (d) cosecA-cotA
If cot2A = x then xis:-

% cot2A= x &, al X 1 T °HA 77
(a) 2cotA/(cot?A-1)

(b) (cot®A— 1)/ 2cotA

(c) (cot?A+1)/2cotA

(d) 2cotA/(1-cot>A)

If secA/(secA-1) +

s gf "
[secA+1) = x, then xis:- fmg

afs  secA(secA-1), + sé‘th/
([secA+1) = x &7 x;ﬁf‘msr &7
(a) 2cosec?A  (b) ﬁ,éﬁc

[c) 2cosecA f@ 2secA

If sec 300°‘é Xy then value of xis:-

sec 3005 Jx%m XFH A 87
134 —@ (b) 13
f;;/(em -1
447 If C;ecA‘f,,‘ sec A-1) =x, then

443.

444.

445.

446.

(a) cosec*A-sin?A A w:;j value of x is:-
(b) cos*A-sin*A ¢<§§ od secAfm =x #, @ x#
(c) cos*A-tan’A T
d) cosec*A-tan*A .~
{f]cosecAf(co c&«jﬁcosec}u (@) t?nA (6) cosesa
(cosecA+1)=x, ‘{]:}yﬁ X 1s:- (c) sinA (d) cosA
7fs cosg@“ﬁ CQQGCA 1]+cosecA/’ 448. What is the value of (1 + cotA)?
(cosecA+ Dé\‘ % @ x F AR T 8?7 + (1 - cotAp?
(a)2cosec’A  (b) 2cosecA (1+CcotA)? + (1—cotA)? =1 F1 7 &7
(c)2secA (d) 2sec?A (a) 2cosec?A  (b) 2sec?A
JIf tan2A =x, then x is:- (c) 1-2cosecA (d) 1 — 2sec?A
af% tan2A =x &, @ x B WA ¥ &7 449.1f cos(-255°) = x, then the

value of x 1s:-
A cos (-225°) = x &, T x 1 71 7A &7

(a)1/2 (b) 3 /2
(c)-2/+3 (d)- 1/+2

450.1f

451.

(1+CC¢2A) /cotA= x, then
the value of x is:-
7 ,f(l+cot’A) /cotA= x &, @ x
F1 F1 7E €7
(a) sinA (b) cosecA
(c) secA (d) cosA
What 1s the value of (cosecA -

cotA) / (secA+tanA)?

(cosecA - cotA)/ (secA+tanA) =l
1 A 7

(a) [csf-cA+tanA]f'f_

(cosecA+cotA)

453:

454.

455.

456.
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p 45%%&& is the value of tan (4n/3)?
£

tan (47 /3) ® 9H 1 82
(a)—1/2 b) V3

(c) v3/2 @ -1/42
cot®A is equal to:-

cot®A fFg® wwer 22

(a) 3cotA — cot3A(1 — 3cot2A)
(b) 3cotA + cot3A(1 — 3cot?A)
(c) 3cotA — cot3A(1 + 3cot?A)
(d) 3cotA + cot3A(1 + 3cot?A)
sec?Acosec’A is equal to:-
sec?’Acosec’A fFgs s 87

(a] sec?A — cosec?’A

(b) \{ [sec’A + cosec®A|

(c) sec®A + cosec®A

(d) \/[sec?A — cosec?A]
What is the value of sec(5m/4)?

sec (5n/ 4% ¥ AH §7
(a) 14/3 (b) 2

(c) -3 (d) -

2sin[(C + D)/2]. sin[(D - C)/2]
1s equal to:-

2sin[(C +D)/2]. sin[(D-C)/2] fFas
R 22

(a) cosC + cosD (b) cosC - cosD

(c) sinC — sinD (d) sinC + sinD
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457. cot?A + cos?A is equal to:-
cot?A + cos?A TFEE =y 7
(a) (cosecA — sinA)2(cosecA + sinA)
(b) (cosecA + sinA)(cosecA — sinA)
(c) (secA + sinA)(secA — sinA)
(d) (cotA — sinA)(cotA + sinA)
458. What is the value of cot (11 n/6)?

cot(11n/6) =1 &M F1 2
(a) -3 (b) -1

() V3 (d)-1/2

459. tan?Asin®A is equal to:-
tan?Asin’A fgs v 27
(a) tan’A —sin?A (b) tan2A + sin?A
(c) cot?’A —sin?A (d) cot?A + sin’A

If cosec240°= x, then the value
of xis:-

A& cosec240°= x &, Al X1 71 99 27
(a) 2 (b) 2
(c)-2/43 (d) -2

If 1/ J1-sin%A)=x, then the

value of x 1s:-

afc 1/ f(1—sin?A)= x &, @ x #I
F A §7
(a)tanA (b) cosecA
(c) secA (d) cosA
462. What 1s the value of (1+cosA)/
(1-cosA)?
(1+cosA)/(1-cosAJ# WA F1 &2
(a) (cosecA-cotA)?
(b) (cosecA+cotA)?
(c) (secA+cotA)?
(d) (secA-cotA)?
463.What is the
(1in/6)? 4 3~
cos[llnéﬁ)\m ﬂﬁﬁ &7
@-1720" B 5/
() 2/43 d) /372
464. 3cosA is equal to
3cosA fred aar 82
(a)4cos®A + cos3A
(b) 4cos3A — cos3A
(c) 3cos3A — cos3A
(d) 3cos®A + cos3A
465. cosA/(1- sinA) is equal to:-

460.

461.

A9
a,{tlfr of cos

22 |
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g o

cosA/(1- sinA) fFas =R &7
(a) (secA — tanA)
(b) (secA + tanA)

() {[(secA+tanA) ]
[d) f[(secA - tanA)]

466. What 1s the value of cot(4s/3)?
cot(4x/3) F HA FT E7

(@) /3 (b) =3

(€)1 () 3
’?cos[(C‘+D ?]cos[(C-D ] is
equal to :-

j::os[(c “D)/2]ecos[(C-D)12]| foFeEsh
aE 27

(a) cosC-cosD (b) sinC+sinD
[c) cosC+cosD (d) sinC-sinD

467.

468. cot’ Acos® A is equal to:--

cot Acos’ A F WA T &7

(c) cot?A-cos?A [d]sulA—mnBM;

469.1f ,’(11’001: A —xftherfv9 the

value of x is:-

- W@é —
o= %7 3‘"’“".,,,&
(a) Wcﬁz‘ ol (b) sinA
(chcosEeA  (d)cosA
479&§W\§at is the value of tan*A +
C(panA?
tan*A+tan®A 1 FI A 82
(a) sec*A-sec?A (b) sec*A+sec?A
[c) cosec*A-sec?A(d) sec*A+cosec’A
If sin(-330°)=x , then the value
of x1is:-
aff sin(-330°)=x &l x I @1 9 &7

471

(a) .\(5 /2 (b)1/2
(¢)-2/ {3 (d) V2
cosechA
472 . What is the value of m ?
cosecA .
cosec’A-1 1 I A £
(a) sinA (b) secA
(c) tanA (d) cosA
473.1f secA-tanA=x, then the value
of xis:
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f*;
(a) cot’A + cos?A [b]SinA+ij§B X, m}

A% secA-tanA=x, @ x F FT °9H &7

(a) \f[1+sinA)/(1-sinA)]

(b) \[1-sinA)/(1+sinA)]
(c) (1-sinA)/ (1+sinA)
(d) (1+sinA)/(1-sinA)
474.1f cos(135°) = x, then the value

of x1s:
cos(135°) = x ¥, o x F = WA B2
(a)-1/+2 (b) -3 /2
(c)-1/2 (d) 2
475.What is the valie of sinAtanA/
(1-cosA)? o)
sinAtanA fl-cosh) #1 71 W £
(a) 1- secﬁfii ™ (b) 1+ secA
(c)d+ cqﬁA (d) 1-cotA
47@1 smfa’240°] = x, then the value
)(. 18-

sin (-240°) = x ¥, & x 1 1 T &7
(@l 2/43 (b2

(c) 2 (d) /3 /2
477.What is the value of 2secA?
2sec?A F A ¥ &7

(a)secA/(cosecA-1)+secA/
(cosecA+1)

(b) cosecA/(secA-1)+cosecA/
(secA+1)

(c) cosecA/(cosecA-1)+cosecA/
(cosecA+1)

(d)secA/(secA-1)+secA/
(secA+1)

478. What is the value of sec (77 [4)?
sec(7 r /4) ®1 WA TN &2

(a) -2 (b) V2

() 1/43 (d)-y3
479.sin(A+B) + sin (A-B) is equal to:

sin(A+B) + sin (A-B) feus s €2

(a] 2cosAsinB (b) 2sinAcosB

(c) 2cosAcosB (d) 2sinAsinB
480. sin®*A+tan®A is equal to:-

sin?A+tan?A fogs wwEw 227

(a) (secA-cosA) / (secA+cosA)

(b) (secA+cosA)(secA-cosA)

(c) (cosecA-cosA)(secA-cosA)

(d) \/[{secA + cosA|(secA - cosAl]
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488.
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What is the value of cosec

(57/3)?

cosec (57/3) &1 &1 HA &7
(a) V2 (b) -2/4/3
(c) /2 @ 1/43

sin(A+B)-sin(A-B) i1s equal to:-
sin(A+B)-sin(A-B) fews awew 27
(a)2sinAcosB  (b) 2cosAcosB
(c) 2cosAsinB (d) 2sinAsinB

2 [cosA+einA)? 1s equal to:
2-(cosA+sinA) fFes a7

(a) (cosecA-sinA)? (b) cosA-sinA
(c) cosecA-sinA (d) (cosA-sinA)?
What is the value of tan(77 /4) ?
tan(7r/4) #1 99 F &7

(a) 3 (b)-1/2

(c) V/3/2 (d) -1
2sin[(C+D)/2].cos[(C-D) /2] 1s
equal to:
2sin[(C+D)/2].cos|(C-D)/2] frus
T §7

(a)sinC-sinD  (b) cosC+cosD
(d) sinC+sinD
tanAcosec?A is equal to:
tanAcosec’A fFHF =R &7

(c) cosC-cosD

(a) (1 +tan® A)cotA

(b) (1 - tan? A)cotA

() /| (1+tan® A)cot A|

o

(d) J (1-tan® A)cot AJ "
If cot (47 /3)=x, the}g&tﬁ v%fue

of x 1s:-

afacotH;r/S) %ﬁmmqﬁw%ﬂ
@1 »_ S ﬂf»r 1/3
@3 Y@

If tan(A/2)=x, then the value of

X is:-

'\4._

It tan(A/2)=x &, W x 1 91 F1 &7

(a) \/L(l +cos A) /(1—cos A)J
(b) (1-cosA)(1+cosA)
(c) (1+cosA)(1l-cosA)

(d) J[(1-cos A)/(1+cosA)]

-

489.1f tan?A/(secA-1)?=x, then the

value of x 1is:

7f& tan?A/(secA-1)?=x %, @ x #I
TH F 87

(a) (L +cosecA)/(1-cosecA)

(b) (1+cosA)/ (1-cosA)

(c) (1—cosA)/(1+cosA)

(d) (1-cosecA)/(1+cosecA)

What 1s the value of cos (47 /3)?
cos (4 7 /3) % AR T §?
(a)-1/2 (b) /3 /2
(©)-143 (d)-J3 /2
tan®A 1s equal to:

tan®A fFas swR 7

(a) 3StanA-tan3A(1-3tan®A)

(b) BtanA+tan3A(1-3tan?A)

(c) StanA-tan3A(1+3tan?A)

(d) StanA+tan3A(1+3tan?A)
sinA/(1+cosA) is equal to:
sinA/(1+cosA) fFas R &7

490.

491.

492.

afz tan(-51/3)=x 2, 9 x F WA
1 2

(a) 3 (b) 1

(c)-1/2 ) 3/2

498. If cosAcotA/(1 — sinA)= x, then

499.

500

the value of x is:-

=z cosAcotA/(1 —sinA)= x 2,
x % TH = E?

(a) 1-cosecA (b} 1+cosecA

(c) 1+secA (d) 1-secA
What is the Valu? of sin (77 /4)?

sin (77 /4) %1 @9 711 27
(a]J_/2 \1512/\/_
() - 1/4*’ 07 @)-2/43

cos A}S qual to:-

\ chs%k m T &7

(a) (cosecA-cotA) (b) [cosecA+cotA] X >

(c) JoosecAcotA (d] \/cose(‘A
If cos ((117 /B) = x, th

value of x 1s:-

o cos (Cilz /6]?‘9; fﬁ‘xm

493. ;,;-;e

A T E?
_\/— f"“
(@) —— f Y. (bl 1/2
\W,J% “
(©) fz‘” b @ %

494 1 Ttmm tanB)/(1+tanA tamB)
F kE\ %X, then the value of x is:-

i":ﬁ-: (tanA — tanB)/(1+tanA tanB)

3 =xEd x w AR
(a)tan(A-B)  (b)tan(A+B)
(c) cot(A-B) (d) cot(A+B)
495.1f tan? A + cot? + 2 = x, then the

value of x 1s:-

fz tan? A +cot? + 2= x &, @ x
1 27

(a) tan?Acosec?A (b) secAcosecA
(c) sec’Acosec?A [d] tanAcosecA
If 2cosec? A= x , then the value
of x is:-

7% Jcosec2 A= x %’, X = OE = %?
(a) 1/(1-cosecA)-1/(1+cosecA)
(b) 1/(1+cosecA)+1/(1-tanA)

[c) 1/(1+ cosA)+1/(1- cosA)
(d) 1/(1- tanA)-1/(1+ sinA)
If tan(-5zn/3)=x,then
value of xis:-

496.

497, the

_rAg >»

501.

502.

503.

504.
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€ (o4 (cos3A-3cosr)/4

(b) (cos3A+3cosA) /3

(c) (cos3A+3cosA)/4

(d) (cos3A-3cosA)/3
cot*A+cot’A 1s equal to:-
cot*A+cot’A THEH FT &7

(a] cosec*A + cosec?A

(b) /[cosec®A - cosec?A]

(c) \/[cosec4A+ cosec?A]
(d) cosec’A - cosec?A
If tan(—7x/4)=x,
value of x is:-

A tan|—77 [/ 4) =x& A X FH =N
(a)-1/2 (b) /3 /2

(c) V3 /2 (d) 1

If (cotAcotB+1)/(cotB-cotA|=x,
then the value of x is:-

A (cotAcotB+1)/(cotB-cotA)=x %,
@ x W WA w22

then the

(a] cot{A+B) (b) cot(A-B)
(c) tan(A-B) (d) tan(A+B)
If 2sec?A=x, then the value of xis:-

af% 2sec?A=x &, d X ®1 9F ¥4 7
(a] 1/(1+cosA)+1/(1-cosA)
(b) 1/(1+tanA)+1/(1-sinA)
(c) 1/(1+sinA)+1/(1-sinA)
(d) 1/(1+cotAj+1/(1-cosA)
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505.

506.

507.

508.

509.

510.

511.

S512.

What 1s the value of cosec
(11776 )72

cosec(11z/6) &1 HHA =HI &7

(@)-2/43 () V2

(©)-2 (@ -3
cos(A+B)+cos (A-B) i1s equal to:-
cos (A+B)+cos (A-B) faas auer 27
(a)2cosAcosB (b) 2sinAsinB
(c) 2sinAcosB  (d) 2cosAsinB
1/ (tanA+cotA) is equal to:-

1/ (tan A+cotA) fFas® aqaw 7

(a) (cosecA+sinA) (secA-cosA)

(b) J[{cosecA—sinA][secA—cosA]]

(e) \/[[cosecA+sinA][secA-cosA]]
(d) (cosecA-sinA)|secA-cosA)

If sin(-57 /3)=x,then the value
of x is:-

A sin-5 7 /3)=x & & X 1 AH T 2

(2)-4/3 /2 (b) /3 /2

(e)-2 (d)-2/ /3
H(tanA+tanB)/(1-tanAtanB) =x,
then the value of x is:-

4fg (tanA+tanB)/(1-tanAtanB)
=x &, @ x ® AH F T2

(a) tan(A+DB) (b) tan(A-B)

(c) cot(A+B) (d) cot(A-B)

If 1/(cosecA -cotA)=x,then the
value of x 1s:-
4fg 1/(cosecA-cotA)=x &, di ).{&ﬁ
0 349 22 o N

If cot ((S7 /4)7 !) lshen the value

of x 1s:- “J‘%

aﬁcot[-s‘f«??ﬁ%x%,mxamﬁw%?
(@) /3 (b) 1
(c)-1 (d)-1/2

If cos (A/2) =x, then the value
of x1s:-

7t cos (A/2) =x &, x F 7 F1 &7
(a) {[(1-cosA)/2] (b) J[(1+sinA)/2]
() \/[{l—smﬁ}!ﬂ (d) J[[l-fcosA),-’Z]

24 |
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513.

514.

515.

516.

If 2cosec’A =x, then the value

of xis:-

7% 2cosec?A =x %, X o A T E?

(a)secA /(secA-1)+secA/
(secA+1)

(b) cosecA/(secA-1)+cosecA/
(sect1)

[c)secA/(cosecA-1)+secA/
(cosecA+1)

|d) cosecA/[cosecA-1)+cosecA/
(cosecA+1)

What is the value of sin(57/3)?
sin(57 /3) &1 A F1 §7

@-v3/2  b)2/J3
1/ @243
cos® A is equal to:-

cos® A fou® s &7

(a) cos3A — 3sin? A cosA

(b) cos3A + 4ein?A cosA

[c) cos3A + 3sin?A cosA )

(d) cos3A — 4sinA cosA

2 sec?A is equal to:-/.

2 sec?A fFa+ Elﬁ'{ff ‘“"f
(a) (1-tanA)? ﬁkfﬂs?—nAF
oy (l-tfﬁnr:‘»w(l*-tmm }

_p"f@

W“‘J (- ta_nA) (1+tanA)

l’ 3
Nt

§
"4
\,___‘,x

¢ jd] (1-tanA)? + (1+tanA)?

518

519.

«517.1f sin(- 4x /3 )=x, then the value
»

of xis:-
g sin(-47/3)=x &, @ x F WA
1 87
(a)-2
(c) \f3 /2

(b)-25
(d) 3

If cos(A-B) -cos (A+B) =x, then

the value of x is

3f% cos(A-B) -cos (A+B) =x %, @ x
F WA T 7

(a) 2sinAsinB (b) 2cosAcosB
(c) 2cosAsinB (d) 2sinAcosB

If secA-tanA=x, then the value
of x1s:-

A secA-tanA=x ¥, fl x H HF 1 &7
(a) 1/ (sec’A-tan’A)

(b) 1/ (sec?A+tan?A)

A

N
Y
¥

520.

521.

1
© fisec? A-tan® 4)

(d) 1/(secA+tanA)

If (1+cosA)/2=x, then the value
of xis:-

AR (1+cosA)/2=x 8, & x &1 791 7 &7

(a] sin®*(A/2) (b) +fsin(A/2)
(c) 4fcos(A2) (d) cos? (A/2)

If secA+tanA=x, then the value
of x 1s:-

I secA+tanA=x
(a) cosA/(1+

Al T W 32

5‘«1
NJCDSA{ 1 ’S’iﬁi)

f4fcos f(ll-l FsinA)

B

o) cosA/(1-sinA)

52@‘[@5 sec(—T7x / 4)=x,

W
P,

523.

524.

525.
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then the
Value of x 1s:-

AR sec(=77/4)=x ¢, A X TN 91 &7
(@) 2 (b) -2

© -1 @-1
If tan(A/2)=x, then the value of
X 1s:-

af% tan(A/2)=x &, Al x F1 F1 91 &7
(a) (1-cosA)/sinA
(b) (1+cosA)/sinA

(c) ,H[{l—cosﬁ){siﬂﬁ]
(d) 1”:(1+(::}S.A),"sjnA]

If (SGCA— t.a_n_f’-\)2 =x, then the
value of x is:-

I (secA—tanA)] =x%,_fhxﬂ‘7lqﬁﬂ%?
(a) (1+sinA)/(1-smnA)

(b) y[(t-sina)/(1+sina)]

(c) (1-sinA)/(1+sinA)

(d) y[(1+sina) /(1-sina)]

If cot(A/2) = x, then the value
of xis:-
7 cot(A/2) =x ¥, d x = 7 7H &2

(a) JI:(I— cos A)/(1+cos A)]

(b] ..”:{1+ cos A)/ 2]

(c) (1+cosA)/sinA

(d) ,’[(1— cos A) ,-"2]
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526. If (sin’A-sin’B)/ (cosAcos’B)=x,
then the value of x 1s:-
7z (sin’A-sin’B)/(cos’Acos’B)=x
&, xH oA 2
(a) tan®A-tan’B (b) cot®A-cot’B

(c) tanA-tanB (d) cotA-cotB
527.1f (1-cosA)/2 = x, then the value

of x is:-

If% (1-cosA)/2 = x &, @ x % F

wE 7

(a)cos?(A/2) (b) \fsin(A /2)

(c) \Jcos(A/2) (d) sin?(A/2)
528.If cosecA-cotA =x, then the

value of x is:-

4% cosecA-cotA =x &, @ X = &1
A 27

(a)sinA/(1-cosA)

(b) \fsinA /(1+ cosA)

(c) sinA /(1+cosA]

(d) JfsinA /(1 - cosA)

If cot (A/2)=x,then the value of

X 18:

afe cot (A/2)=x®, A x 1 T A 27

(a) J[(l+cosA)/(l—cosA )]
(b) cosecA-cotA

(c) 1/[(1—003}\}/2]

529.

532.

533.

534.

535.

F\-\w"‘

If cot (A/2) =x, then the value
of x1s:

A cot (A/2) =x ¥, @ x ® 1 AH 27
(a) tanA/ (1+secA)

(b) ,{[(1-COSA) /2]

(c) sinA/(1-cosA)

(d) ,/[(1+cosA)/2]

If [ cosA/(1+sinA)]? =x, then the
value of x is:

af& [ cosA/(1+sinA)]? =x &, @ x %1
I WA T2

(a) (cosecA+1)/(cosecA-1)

(b) (cosecA-1) / (cosecA+1)

(c) \([(cosecA—l}/(oosecA+l}]

(d) \( [( cosecA+1)/(cosecA-1 )]

(a) 2sec?A (b) 2cosecA

(c) 2cosec’A  (d) 2secA
538.If cos45°-sec30°=x, then value

of x 1s:-

Af cos45°-sec30°=x &, @l x &

A 2

(@) (1++2)/2  (b) (242-43)/2

(c) (/5-28)/ (d)4 /B

539.1f cot(A/2)= x, then x 1s equal to:-
R cotfA/2)= x ¥, A x i w87
(a) tanA/(1+s j
(b) 1f[sec§}l-cot@’r’

(c) tanAm +G‘OS ecA)

e

54&1{34@;@& 57/4)=x, then the

{}v?ue of x 1s:-

wf‘tt.l'if‘;' sec(-57 /¥ =x 2 dxF: Fn

If 4|||: 1+(,0§3A)./2:| =x then the’fg
N Ly =)
value of x :- : > et i
¢ M (a) -1/+/3 (b) 2
L(1+COSA)/2J ¥ %\a‘r / V2
qH F1 27 5 wo“; (C}_l B (d] ‘\/g
(a) sin [A/2] f/«? tan(A/Q] 541.[:_'.191:3.1_1[}&{2]—1, then the value of
(c) cot (A/zq J(d) cos(A/2) ' o
If secA+£a.t1$’tﬁx then the value R tan(A/2)=x T,/ x T F1 AR #?
of x‘;@é’qv\’ d (a] sinA/(1-cosA)

‘ﬁ:geciﬂanA—x% A x T HH T B2

Cfa) [(1-sina)/(1+sinA) ]

A

(d) ,f (1+cos A)/ 2 _f~;

If (1- cosA]/(1+cosA)ffﬁen the

value of x is:

7f% (1-cosA)/(1 é}yﬂ- ? @ x

w #3270
Jk

(a)(cot Ad’cogec;ka
(b) (cot A-&osecA)’
(c) cot A-cosecA
(d) cot A+cosecA

530.

531.1If cosec(-11 r /6)=x, then the
value of x is:
af cosec(-117 /6)=x &, @ x #1
1AM 77
(a)2 b)2/3
() V3 (@) -2
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536.

537.

(b) (1+s1nA)/ (1-sinA)
(c) (1-sinA)/(1+sinA)

(d) [ (1#sinA)/(1-sinA)]

If 1+secA=x, then the value of
X is:-

If% 1+secA=x ¥, 1 x &1 #41 9H 27
(a) sinAtanA/(1+cosA)

(b) | sinAtanA/(1-cosA)|
[c) sinAtanA/ (1-cosA)

(d) J[sinAtanA /(1+cosA)]

If 1/(1+cosA)+1/(1-coshA)=x,
then value of x is:-

afg 1/(1+cosA)+1/(1-cosA)=x &,
I x N AE 27

Copyright © All Rights Reserved | https://spardha.guru/

(b) sinA/ (1+cosA]

(c) \/LsinA /(1+cos A}J

(d) || sinA/(1-cos A)]

If 2secA-(1+sinA)/cosA=Xx, then
the value of x is:-

3ft 2secA-(1+sinA)/cosA=x %, i
X ® WA &7

542.

(a) cosecA/(1+sinA)

(b) cosA/(1+sinA)

(c) cosA/(1-sinA)

(d) cosecA/(1-sinA)
543. What is the value of
[(sinx+siny)(sinx-siny)]/
[(cosxtcosy)(cosy—cosXx)]?
[(sinx + siny)(sinx-siny)]/[(cosx
+cosy)(cosy — cosx)] 1 HH &2
@0 (b1 (-1 (d)2
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544.

545.

546

547. Wh

8.

549.

What is the value of [(tan56 +
tan3 0]/ 4cos468 (tan5H-
tan36)]?

[(tan56 + tan36]/ 4cos46

(tan5 0—tan3 Q)] &1 HF 1 ¥7
(a)sin2 8 (b) cos2 6

(c)tan4 B (d) cot28

What is the value of (4/3)cot?
(m /6)+3 cos? (150°)—4 cosec?45°
+ B8sin (m /2)?

(4/3)cot? (m /6)+3 cos? (150°)-4
cosec®45° + 8sin (m /2) &1 AN
I E7
(a)25/4
(c)-7/2

(b) 1
(d) 13/2

. What is the value of sin (B-C)

cos(A-D)+sin(A-B) cos(C-D)+
sin(C-A)cos(B-DJ?
sin(B-C) cos(A-D)+sin(A-B)
cos(C-D)+ sin(C-A)cos(B-D) =1
T 1 2?
(@) 3/2 (b -3 (c) 1
at 1s the
[4cos(90 - A)sin®(90 + A)]-
[45in(90+ A)cos (90 — A)]
cs( 180 +8A}
2
|[4c0s(90 - A)sin>(90 + A)] —'L
[[431‘:1[90 +A)cos®(90 - 4)] |
[ 180+ SA] E7|
05
2

(d) 0

value of

HH

87

@1 GB-1 (@0 (d2,.

@0 M1 (-1 (42

550.What is the value of [(sin7x—

551.

552.What

553.

f

e
554

What is the value of cos [[]80—@’f7 ,f

2]cos [(180-96)/2)] + | Tlacr”"
36)/2] sin [(18&139}@1‘4@

cos [(180-0)/2] ﬁ80—96]/
2)] + [sin[lSOX;é{ sin [(180-
136)/2] = =3, 27

{m-rﬁé

(b) cos26 cos66

(c) sin2 O sin6 O

(d) cos2 0 cos4 0

What is the value of [tan? (90—
0 }-s1n?(90-8 )]cosec?(90-0 )cot?
(90-06)?

[tan? (90-0 )-sin?(90-0) ]cosec?
(90-6)cot? (90-6) =1 HM 11 7

(a)sin2

26 |
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555.

556.

sin5x) + (cos7x + cos5x)| — [(cosbx
—cos4x)*(sin 6x + sin 4x]?
[(sin7x-s1n5x)~(cos7? x+cosSx)|—
[(cosbx —cos4x)+(sin 6x + sin
4x)] 1 A T 32

(a)1 (b) 2 tanx
(c) tan2x (d) tan(3x/2)
What 1s the wvalue of

[(cos*2 6 +3cos2 6 )+{cos® f —sin® 9 )]?
[(cos®2@ +3cos28 )(cos®g -
sinp )] w1 WA N 7
@0 (m1 ()4
is the

tm{%+A]xtan[%—F+A]p

tan‘ -—+AJ}<tBI‘1[3T+A]a;[ T

(d) 2
value

of

A°

cos(90-B) sin (C — A) + sin (90+A)
cos (B+C) -sin (90-C) cos
(A+B)®1 W A B2

(a1 (b) sin(A + B -C)
(c) cos(B + C - A)

(40

557.What is the value of [(cos 7A +

cos SA) * (sin 7A - sin 5A)]?
[(cos TA + cos SA) ~
5A)] 1 HH F &2
(a) tan A (b) tan 4A
(c) cot 4A

(sin 7A - sin

] cot A
558. What is the v; '_ of [1-s1n(90 -

@) ginAcosA

B2V

%. #" X_: ?»w}
(2)1 (b) 0 N
(c) cotA /2 (d) —1 :il@
What is the value of.. \,,;;:

o/

[(sec29+1 +/sec® L]‘x {ﬁbtﬁ tan®) 7

[(sec mef@ﬁ'__}_ (cotb—tanb)
w%%%

40 (b) 1
; rgoscce (d) secp
4 What 1is the wvalue of

sin(630°+A)+ cosA?
sin(630°+A)+ cosAH HF T 27

(a) V3 /2 (b)1/2

(c) O (d)2/43

What is the value of [(sin 59°
cos 31° + cos 59° sin 31° )% ( cos

20° cos 25° —sin 20° sin 25°)]?
[(sin 59° cos 31° + cos 59° sin
31° )%+ ( cos 20° cos 25° —sin 20°
sin 25°)] W1 WM =1 87

(a) 1/+2 (b) 2 /42
(c) A3 (d) V2

What is the value of cos(90-B)
sin (C — A) + sin (90+A) cos (B+C)
-sin (90-C) cos (A+B)?

560.

S561.

562.
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24] /1 +‘;§1ﬂ [W+ 2A)] ?

[1- 5111[9 2A] / [1 + sin (90 +
2AN-FT Tﬁw 22

(b) cot?A

[‘ch tan?A (d) sin®AcosA

Mhat is the value of sin 75° +

sin 15°?

sin 75° + sin 15° =1 WF 41 #7
(@) 43 (b) 2.3
(c) Ja/2) (d) 3/42

What is the value of [(cos3p+
2cos 59 tcos78) T (cos ¢+ Zcos
39+ cos56)] + sin 29 tan 39°?
[([cos 3p+ 2cos 5§ +cos7g) + [cos
6+ 2cos 38+ cos58)| + sin 28
tan 3¢ HT WE T 7

(a) cos 20 (b) sin 20
(c)tan 20 (d) cot 8 sin 20
What is the value of [2 sin (45
+ 0) sin (15-9)] /cos 26?

[2 sin (45 + 08) sin (45 -0)] /cos
26 N HF FE?

(a) 0 (b) tan 28

(c) cot 29 (d) 1

What is the value of sin (90° +
2A)[4 - cos? (90° - 2A)]?
sin(90° + 2A)[4 - cos? (90° -
w1 HE 87

(a] 2(cos® A - sin? A)

(b] 2(cos® A + sin® A)

(c) 4(cos® A + sin® A)

(d) 4(cos® A - sin® A)

2A)]
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563. What is the value fo [cos

564.

5635.

S566.

567.
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(90+Aj+sec (270- A)j+ [sin(270
+A)+cosec (630-A)]?

[cos (90+A)+sec (270-A)]+
[sin(270+A)+-cosec (630-A)] =1
T 7

(a)3 secA (b) tanA secA
()0 (d) 1
What is value of

[sm(y—z)+sin(v +2)+2siny]/
[sin(x—z)+sin(x+2)+2sm x| ?
[sm(y —z)+sin(y + 2)+ 2siny]/

[sin(x—z)+sin(x+z)+2sn x| & 1
oH T 82

(A) cos xsiny  (B)(siny)/ (sinx)
(C)sinz (D) sin xtany
What is the value of
{[sin(x+y)-2sinx+sin(x-y)]
/[cos(x—y)+cos(x+y)-2cosx]}

® [[sin 10x —sm8x )] f‘(\ceslﬁx+ccs S.Y) 2
{[sin(x+y)-2sinv+sin(x-y)]
/[eos(x—y)+cos(x+y)-2cosx]}

% [[sinl{)x —sin8x )] / {casl Ox +cos 8)()

1 HE F 87

(a)O (b) tan 2x

()1 (d) 2 tanx

What is the value of

(a) 3v2 (b) 3/+2
() 1/~2 (d) V2
568. What is the value of
1 1
+ ?
sin*(90-6) cos®(90-6)-1
1 1
+ ?
sin4(90 -08) cos’ (90-0)-1
*1 HE 1 87

569. What

570.What

(a) tan’sec’d (b) sec’ @

(d) tan®@sin® 6
the of

[tan(90— A)+cot (90— A)] /

[c) tan*@

is value

[2 sec’ (90 - gA)]?

[tan(90 - A) +cot (90— A)] /

[2sec?(90-24)] =1 =M @1 %7 jiik
y:‘ ?w}
valwéfimﬁf 576. What is the value of [1 —tan (90

(&) O (b) 1

is

(c) 2
the

31n(90 x)cos[fr;&g y}_]}
cos(90 );}mjf:fy l)]
[sin(90 c“w{fr (x-v)]}

{@’qgsgqg—t)sm[ﬂ (y- x)]1 ?
F1 87

£ S
C(fa)—cosy (b —siny
(c) cos x (d) tany

[sm ——108}—005(;7 60)] f/ %71

[cos ——1091—s1r1[7r Gﬂﬂ -
\_@?’ »

[s1n[§ - 109] —cof(r+'60)] /

\\\.a

[cos )@BJ §1n[;r 60)] w7

wH w0 %?‘

(a) tan26 (b) cot28

(c) cot® (d) cot3@

If secﬂ(cosﬂ+sin8)=\/§ , then
what is the wvalue of
(2sinf) / (cosf —sind)?

1 I Secﬁ(cosﬁ+sin6)=\f§ %, ar

(2sin@) / (cos@-sing ) =hl HH I 7

572.

What is the value of {(sin 4x +
sin 4y) [(tan 2x— 2y)]}/ (sin 4x -
sin 4y) ?

{(sin 4x + sin 4y) [(tan 2x— 2y)]}/
(sin 4x — sin 4y) F1 W F 2
(a) tan 2 (2x + 2y) (b) tan?(x-y)
[c)cot (x—y) (d)tan (2x+ 2y)
What is the value of (32 cos®x —
48 cos*x+ 18 cos?x—1)/[4 sinx
cosxsin (60 — x)cos(60—x) sin (60
+ x} cos (60 + ¥]?

(32 cos®x —48 cos*x+ 18 cos®x
—1)/]|4 sinx cosx sin (60 — x) cos
(60— x) sin (60 + x) cos (60 + x)]
F WA )
(a) 4 tan 6x
[c) 8 cot 6x

(b) 4 cot 6x
(d) 8 tan 6x

Copyright © All Rights Reserved | https://spardha.guru/

573. What is the value of [2 cot x (z

—A)/2]/[1 +tan® x (27 —A)/2] ?

[2cotx (z —A}/2]/[1 +tan?x (2 7

~A)/2] * HF F &2

(a2 sin> A/2 (b) cos A

(c)sin A (d) 2 cos? A/2

Iftan p+sec 6 = (x—2)/(x+ 2),

then what is the value of cos g ?

AR tan g+sec o = (x—2)/(x+2) %,

dl cos @ TH 1 ¥?

(@ (= 1)/ (2 + 1)

b) (222 —4)/ (20 + 4)

(c) (¢~ 4)/ (A

(@) (2 - 2), (8 +

575. What 13%;];?6"}251!11(3 of (cos 40° —
cos, 148\]/{%10 80° +sin 209 ?
(coé °_ cos 140°)/(sin 80° +
sl 20°) #1 wH F &7

{}
Q25 b)2/ 5
©1/43 A 5

574.

— )+ sec (90 — g)]/ [tan (90 —
p)+sec (90-9)+ 1] 7

[1-tan (90—-g) + sec (90— 9)]/
[tann (90 — ) + sec (90 — g ) + 1]

T WH 87
(a) cot(e /2) (b) tan (8 /2)
(c)sin @ (d) cos g

577.What is the value of [sin(90 —
A) + cos (180 — 2A)]/[cos (90 —
24) + sin (180 — A)]?

[sin(90 — A) + cos (180 — 2A)]/

[cos (90 —2A) + sin (180 — A)] =1

H T 2
(a) sin (A/2)cosA
(b) cot (A/2)
(c) tan (A/2)
(d) sin A cos (A/2)
578.What 1s the wvalue of
2(1 —sin’0 )cosecge
cot? 9(1+ tan? 9) =
2(1 —sin? 9)0056028
cot? 9(1+ta._t1;3 9) -1 Eﬂqu%?
(a] sin20 (b) sin® 0
(c) cos?0 (d) cos26
| 27
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579. What is the value of cos 15°-~ 581.What is the value of (b) sin x — cos x
cos 1657 (c) sec x + tan x
cos 15°- cos 165° &1 W #1 27 [1-tan(90°-@ )|?/[cos?(Q0-0)] — 1 ? (d) sec x — tan x
(&) V3 /2 b) 2‘((\[5 _1) [1-tan(90°-0)]?/[cos?(90-a)] — 1 ? 583.What is the value of sin (180 -
' F WA 7 B) sin (90 — B) + [cot (90 -8)/1
(c) ('\E‘Fl)/\/i (d) (‘J§+1)/2 [a) —sin28 (b) —cos 28 + tan®0]?
580. P + Q + R = 60°, then what is the (c) cos26 (d) sin26 sin(180 -0) sin (90 -8 ) + [cot
value of cos Q cosR (cos P—sin P) 582.What 1s the value of [1 + 2 cot? (90 —8)/1 + tan®B] =1 WA T 22
+ ein Q sin R [sin P — cos P)? (90 — - 2 cosec (90 — x) cot (90 5 0sind
qf P+ Q+ R=60° %, @ cos Q — x)]/ [cosec (90 — x) — cot (90 — (8) Gt iain,
cos R (cos P - sin P) + sin Q sin x]? (b) cotl-}‘/(1+c0t29)2
R (sin P — cos P) &1 99 1 87 [1 + 2 cot® (90 — x)— 2 cosec (90
- x) cot (90 — xj]/ [cosec (90 — x)
(@)1/2 (b) V3 /2 ~ cot (90 — )] =1 WA 1 7
(c) 1/+2 ) 2 [a)cos x + sin x
8
Cga ANSWER KEY
1. (a 41. (@ 81. (a) 121.0) 161.(c) 201.(d) 241.(d)40 281.(c) 321.(h 361.(b)
2. () 42. (b 82. (d) 122.(d) 162.(b) 202.(b) 2‘}2”@1{;‘; 282.(a) 322.(h) 362.(d)
3. () 43. (o) 83. () 123.(c) 163.(b) 203.(d) ? d) 283.(b) 323.(d) 363.(d)
4. (a) 44, (b 84. (o) 124.(c) 164.(c) 204.(c) jgg}‘} 284.(b) 324.(c) 364.(d)
5. (d) 45. (b) 85. (o) 125.(d) 165.(c) 205.(g), (a) 285.(b) 325.(¢) 363. (¢)
6. (d) 46. (o) 86. (c) 126.(c) 166.(b) 206. (gF 0}, f 2¢6.(b) 286.(b) 326. (d) 366. (c)
7. (a 47. (o 87. (o) 127.(d) 167.(c) 2074 y.J|} 247-(b) 287 .(c) 327.(d) 367.(c)
8. (d) 48. (o) 88. (a) 128.(c) 168.(b) 208. 7Y 24s. (a) 288.(c) 328.(q) 368. (c)
9. (o) 49. (a) 89. (d) 129.(d) 169.(d) [skgé (a) 249.(d) 289.(a) 329.(c) 369. (b)
10. (a) 50. (b 90. (b) 130.(c) 170.(b) J 10.() 250.(d) 290.(b) 330.(c) 370.(b)
11. (b) 51. (d) 91. (b) 131.(c) 171 (dy ), j 11.(d) 251.(c) 291.(d) 331.(d 371.(a)
12. (a) 52. () 92. (a) 132.(c) .(h) ) 212. () 252.(a) 292.(b) 332.(a) 372.(c)
13. (a) 53. (¢ 93. (o) 133.(a) ﬁfég 213.(d) 253.(a) 293.(c) 333.(q) 373.(b)
14. (c) 54. (d) 94. (c) 134.(c) [c} 214.(a) 254.(a) 294.(d) 334.(c) 374. (b)
15. () 55. (d) 95. () 135.(c &9\_ 75.(c) 215.(c) 255.(c) 295.(d) 335.(a) 375.(a)
16. (b) 56. (o) 06. (b) 136. @,,‘ 176.(c) 216.(d) 256.(c) 296 .(c) 336.(c) 376. (a)
17. (o) 57. (d) 97. (o) 137.13) 177.(0) 217.(a) 257.(b) 297.(d) 337.(a) 377.(d)
18. (b) 58. (¢ 98. (d)| ™ 138.(c) 178.(h) 218.(a) 258.(c) 298.(c) 338.(d) 378.(c)
19. (a) 59. (¢ 99. (c) @&m} 179.(a) 219.(a) 259.(h) 299.(c) 339.(b) 379.(c)
20. (c) 60. (o) 100 o 4.0, (d) 180.(c) 220.(d) 260.(a) 300.(c) 340. (a) 380. (a)
21. (a) 61. (o) uﬁ |/ 141.(0) 181.(b) 221.(b) 261 (c) 301.(d) 341 (a) 381.(b)
22. (d) 62. (d) 142.(a) 182.(d) 222.(d) 262.(a) 302.(c) 342.() 382.(c)
23. (d) 63. (o) {a} 143.(a) 183.(b) 223.(a) 263.(d) 303.(a) 343.(d) 383. (b)
24. () 64. (a) {- %.(c) 144.(a) 184.(a) 224.(a) 264.(d) 304.(a) 344.() 384. (a)
25. (o) 65. ) 105.(d) 145.(b) 185.(a) 225.(b) 265.(b) 305.(a) 345. (b) 385. (a)
26. (a) 66. (ch 1 106.(d) 146. ) 186.(d) 226.(d) 266.(c) 306.(d) 346.(b) 386. (c)
27. (c) ;g ©y | 107.0) 147.(d) 187.(c) 227.(d) 267.(a) 307 .(c) 347.(d) 387.(d)
28. (a) 68’\%1)3’ 108.(d) 148.(b) 188.(c) 228.(a) 268.(c) 308.(a) 348.(d) 388.(c)
20 (a) (d) 109_(a) 149_b) 189 _(a) 229 _(h) 269.(a) 309.(b) 349. (c) 389. (b)
30. (b) 70. (o) 110.() 150.(c) 190.(b) 230.(d) 270.(a) 310.(a) 350.(a) 390.(d)
31. (a) 71. (a) 111.(d) 151.(b) 191.(b) 231.(c) 271.(b) 311.(b) 351.(d) 391. (b)
32. () 72. (d) 112.(d) 152.(d) 192.(b) 232.(c) 272.(a) 312.(d) 352.(d) 392.(d)
33. () 73. ) 113.() 153.(d) 193.(c) 233.(b) 273.(b) 313.(c) 353.(a) 393.(c)
34. (d) 74. (b) 114.(d) 154.(d) 194.(b) 234.(a) 274.(b) 314.(b) 354.(d) 394.(a)
35. (d) 75. (o) 115.(d) 155.(c) 195.(a) 235.(c) 275.(d) 315.(d) 355.(b) 395.(b)
36. (a) 76. (8 116.(c) 156.(a) 196.(a) 236.(c) 276.(d) 316.(d) 356. (b) 396. (a)
37. (b) 77. b 117.(c) 157.(d) 197 .(c) 237.(c) 277.(a) 317 .(c) 357.(¢) 397.(a)
38. (a) 78. (a) 118.(a) 158.(d) 198.(d) 238.(c) 278.(b) 318.(c) 358.(¢) 398.(d)
39. (d) 79. (d) 119.(c) 159.(a) 199.(c) 239.(d) 279 (a) 319 (a) 359.(b) 399. (b)
40. (c) 80. (a) 120.(b) 160.(d) 200.(b) 240.(c) 280.(d) 320.(c) 360.(c) 400.(d)
28 |ﬂ
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401.(c)
402. (d)
403. (a)
404. (a)
405. (d)
406. (b)
407.(d)
408. (a)
409. (a)
410.(b)
411.(d)
412.(d)
413.(a)
414.(b)
415, (d)
416.(c)
417.(c)
418.(d)
419.(c)

info@spardha.guru

420.(c)
421.(c)
422 (c)
423.(c)
424.(d)
425.(a)
426.(d)
427 (a)
428.(c)
429.(d)
430.(a)
431.(b)
432 (a)
433.(a)
434.(d)
435.(d)
436.(c)
437.(c)
438.(a)

439.(b)
440, (d)
441 . (a)
442 (a)
443, (d)
444 (b)
445, (a)
446, (c)
447.(b)
448, (a)
449, (d)
450. (c)
451 (c)
452, (b)
453.(a)
454 . (c)
455, (b)
456. (b)
457.(b)

458.(a)
459. (a)
460. (c)
461.(c)
462. (b)
463.(d)
464. (b)
465. (b)
466. (c)
467. ()
468. ()
469. (c)
470. (a)
471.(b)
472. (b)
473.(b)
474.(a)
475. (b)
476.(d)

&
&

2{5;;

477.(c)
478.(b)
479.(b)
480. (b)
481.(h)
482, (c)
483.(d)
484, (d)
485.(d)
486. (a)
487. (b
488.(d)
489, ()
490. (a)
491. (a)
492, (a)
493, (d)
404, (a)
495. (o)

496.(c)
497.(a)
498.(b)
499.(c)
500. (c)
501.(d)
502.(d)
503. (b)
504. (c)
505.(c)
506. (a)
507.(d)
508. (b)
509. (a)
510.(a)
511.(c)
512.(d)
513.(a)
514.(a)

515.(c)
516. (d)
517.(c)
518.(a)
519.(d)
520. (d)
521.(d)
522.(a)
523.(a)
524.(c)
525.(c)
526.(a)
527.(d)
528.(c)
529.(a)
530.(b)
531.(a)
532.(c)
533.(b)

534.(d)
535. (d)
536. (c)
537.(c)
538, (c)
539.(d)
540. (b)
541.(b)
542. (b)
543. (b)
544.(b)
545. (a)
546.(d)
547.(b)
548. (b)
549. (b)
550. (b)
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551.(c) 568. (a)
552.(d) 569.(c)
553.(b) 570.(a)
554.(c) 571.(d)
555.(d) 572.(c)
556.(d) 573.(c)
557.(d) 574.(c|
558.(c) 575.(b
559.(c) 576.(b
560.(a) 577.(c)
561.(d) 578.(d)
562.(d) 579.(c)
563.(d 580.(a)
564. (b) 581.(a)
565. (b) 582.(d)
566. (b 583.(a)
567

&2%3
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